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QID : 1 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

She is walking (1)/ in the park (2)/ since morning. (3)/ No error (4)
Options:

Correct Answer: 1
Candidate Answer: 1

QID : 2 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

The mobile phone which was primarily used to communicate with the outside world, (1)/ has now become our primary instrument (2)/ of being wrapped up in our
own self. (3)/ No error (4)

Options:

1)1

2)2

3)3

44

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 3 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by
selecting the appropriate option.

He was sorry her loss.

Options:

1) about

2) for

3) at

4) from

Correct Answer: for

Candidate Answer: for

QID : 4 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by
selecting the appropriate option.

The velocity of an object is the rate of change of its position respect to a frame of reference.

Options:

1) by

2) of

3) or

4) with

Correct Answer: with
Candidate Answer: with

QID : 5 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Eminent

Options:

1) Famous

2) Insignificant

3) Bland

4) Typical

Correct Answer: Famous
Candidate Answer: Famous
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QID : 6 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Conceited

Options:

1) Factual

2) Shy

3) Circular

4) Proud

Correct Answer: Proud

Candidate Answer: Factual

QID : 7 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Absolve

Options:

1) Acquit

2) Clear

3) Excuse

4) Blame

Correct Answer: Blame

Candidate Answer: Blame

QID : 8 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Adjacent
Options:

1) Nearby
2) Joining
3) Remote
4) Bordering

Correct Answer: Remote
Candidate Answer: Remote

QID : 9 - Rearrange the parts of the sentence in correct order.

Itis up to

P : consumers now to appreciate
Q : exercise this power with care
R : the threat of antibiotic resistance and
Options:

1) PRQ

2) PQR

3) RQP

4) QPR

Correct Answer: PRQ

Candidate Answer: RQP

QID : 10 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The audience laughed at the comedian.

Options:

1) The comedian is laughed at by the audience.
2) The comedian was laughed at by the audience.
3) The comedian was laughed at by everyone.

4) The comedian was laugh at by the audience.

Correct Answer: The comedian was laughed at by the audience.
Candidate Answer: The comedian was laughed at by the audience.

QID : 11 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

“Are you going to eat with us?” he asked.

Options:

1) He asked me if | was going to eat with them.

2) He asked whether he was going to eat with them.
3) He inquired whether | am going to eat or not.

4) She asked me if he was going to eat with them.

Correct Answer: He asked me if | was going to eat with them.
Candidate Answer: He asked whether he was going to eat with them.

QID : 12 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Ambarass

2) Embarass

3) Embarrs

4) Embarrass



Correct Answer: Embarrass
Candidate Answer: Embarrass

QID : 13 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Indian corporates are influenced by the American style of management, including practices. The recent episodes in a couple of big and
reputed corporates in India are prompting many to re-think the kind of compensation strategy that would be for Indian corporates. Should it be more
socialistic, as prevalent in Scandinavian, some European and Japanese companies? there be some law to govern the salary differentials?

should different functions such as Finance be remunerated substantially higher for equivalent educational degree holders and similar efforts by individuals in other
functions?

Indian corporates are influenced by
Options:

1) great

2) greatly

3) greatness

4) greater

Correct Answer: greatly

Candidate Answer: greatly

QID : 14 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Indian corporates are influenced by the American style of management, including practices. The recent episodes in a couple of big and
reputed corporates in India are prompting many to re-think the kind of compensation strategy that wouldbe _________ for Indian corporates. Should it be more
socialistic, as prevalent in Scandinavian, some European and Japanese companies? ___ there be some law to govern the salary differentials?

should different functions such as Finance be remunerated substantially higher for equivalent educational degree holders and similar efforts by individuals in other
functions?

management, including practices.
Options:

1) compensate

2) compensation

3) to compensate

4) compensing

Correct Answer: compensation

Candidate Answer: compensation

QID : 15 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Indian corporatesare______influenced by the American style of management,including___ practices. The recent episodes in a couple of big and
reputed corporates in India are prompting many to re-think the kind of compensation strategy that wouldbe _________ for Indian corporates. Should it be more
socialistic, as prevalent in Scandinavian, some European and Japanese companies? ___ there be some law to govern the salary differentials?

should different functions such as Finance be remunerated substantially higher for equivalent educational degree holders and similar efforts by individuals in other
functions?

that would be for Indian corporates.
Options:

1) ideally

2) ideals

3) ideal

4) idealism

Correct Answer: ideal

Candidate Answer: idealism

QID : 16 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Indian corporates are influenced by the American style of management, including practices. The recent episodes in a couple of big and
reputed corporates in India are prompting many to re-think the kind of compensation strategy that would be for Indian corporates. Should it be more
socialistic, as prevalent in Scandinavian, some European and Japanese companies? there be some law to govern the salary differentials?

should different functions such as Finance be remunerated substantially higher for equivalent educational degree holders and similar efforts by individuals in other
functions?

Japanese companies? there be some
Options:

1) Shall

2) will

3) Should

4) What

Correct Answer: Should

Candidate Answer: Should



QID : 17 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Indian corporates are influenced by the American style of management, including practices. The recent episodes in a couple of big and
reputed corporates in India are prompting many to re-think the kind of compensation strategy that would be for Indian corporates. Should it be more
socialistic, as prevalent in Scandinavian, some European and Japanese companies? there be some law to govern the salary differentials?

should different functions such as Finance be remunerated substantially higher for equivalent educational degree holders and similar efforts by individuals in other
functions?

salary differentials? should different
Options:

1) What

2) Where

3) Why

4) Whom

Correct Answer: Why

Candidate Answer: Where

QID : 18 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A drop in the ocean

Options:

1) Even a small gesture means a lot to a needy person.

2) To lose someone in a huge crowd.

3) A scolding which has no effect on a stubborn person.

4) A very small amount compared with what is needed or expected.

Correct Answer: A very small amount compared with what is needed or expected.
Candidate Answer: A very small amount compared with what is needed or expected.

QID : 19 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Count one's blessings

Options:

1) To be blessed with the best things in life.

2) Be grateful for what one has.

3) Keep a track of your wealth or else you may lose it.

4) Something which you thought lucky turns out to be bad luck.

Correct Answer: Be grateful for what one has.
Candidate Answer: Something which you thought lucky turns out to be bad luck.

QID : 20 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

The action of discouraging an action or event through instilling doubt or fear of the consequences
Options:

1) Buoy

2) Spur

3) Deterrence

4) Exhilarate

Correct Answer: Deterrence
Candidate Answer: Deterrence

QID : 21 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Make someone less angry or hostile
Options:

1) Sullen

2) Offend

3) Chafe

4) Placate

Correct Answer: Placate

Candidate Answer: [ NOT ANSWERED ]

QID : 22 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "'no improvement".

They teased and (to joke) with the patient and didn't stop till they elicited a favourable response from her.
Options:

1) joke

2) joking

3) joked

4) no improvement

Correct Answer: joked

Candidate Answer: joked



QID : 23 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "'no improvement”.

May be Karishma wasn't the only one who (had been overlooked) by Mrs Shah when it came to inheritance.
Options:

1) have been overlooked

2) is been overlook

3) had been overlooking

4) no improvement

Correct Answer: no improvement

Candidate Answer: had been overlooking

QID : 24 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

Years later | moved to a/an
A-country that had well-connected
B-buses, subways and tram systems
C-old city on the east coast of the
Options:

1) BCA

2) CAB

3) BAC

4) ACB

Correct Answer: CAB

Candidate Answer: CAB

QID : 25 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Repositary

2) Repository

3) Repozitory

4) Repozitary

Correct Answer: Repository

Candidate Answer: Repositary

QID : 26 - In the following question, select the related word pair from the given alternatives.

frafafed wer 7 Ry g foeredt # & F&faa ag gm &t g

af:aflRmmg::?2:?

Options:
1) Circumference : Sphere

R : e

2) Circle : Circumference

g

3) Perimeter : Rectangle

R : 3mEd

4) Area : Triangle

SR : st

Correct Answer: Circle : Circumference
g aRkfY

Candidate Answer: Circle : Circumference

T aRfY

QID : 27 - In the following question, select the related number from the given alternatives.
15:17::23:?

FafafEa ue A Ry 71g foeredt 7 & wefda dwear & ghgl

15:17::23:?
Options:

1) 24

2) 27

3) 25

4) 35

Correct Answer: 25
Candidate Answer: 25



QID : 28 - In the following question, select the related letter/letters from the given alternatives.
PGY:JAS::VIK:?
fafafea vy 8 Ry 7y el & @ gefda srer/sieri & gl

PGY:JAS::VIK:?
Options:

Correct Answer: PCE
Candidate Answer: PCE

QID : 29 - In the following question, select the odd word pair from the given alternatives.

frfafea v & Ry 1y faeredt & @ fowm g gm &t gg)
Options:

1) Mass - Balance

ST — dRISL,

2) Temperature — Thermometer

dT9HTE =

3) Scale - Length

Thef — TS

4) Pressure — Barometer
ard -
Correct Answer: Scale — Length

Candidate Answer: Scale — Length
Thet

QID : 30 - In the following question, four number pairs are given. The number on left side of (=) is related to the number on the right side of (-) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

A9 g Qv F, IR TEm g Ry g &)1 (—) & Irff oiiR & Tee () & arff ok &) 1 e @ adh/ o & Twifda )1 ff 3t ga ah/frem 3 snuR o wmE €1 Ry g et A @
o=t gfAgl

Options:

1) 11 -1331

2) 15 - 3375

3)12-1728

4) 14 - 2788

Correct Answer: 14 — 2788

Candidate Answer: 14 — 2788

QID : 31 - In the following question, select the odd letter/letters from the given alternatives.

et o & Ry 1q fReredt & & fwm srar/aert &t g

Options:

1) HPY

2) AIQ

3) GOW

4) DLT

Correct Answer: HPY
Candidate Answer: HPY

QID : 32 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Fortitude
2. Form

3. Forget
4. Fortify
5. Fragrant

frfafere areal t ATeaahial | ST aTet 3 & SR ford |

1. Fortitude
2. Form

3. Forget
4. Fortify
5. Fragrant
Options:

1) 53214

2) 32415

3) 25143

4) 24513

Correct Answer: 32415



Candidate Answer: 32415

QID : 33 - In the following question, select the missing number from the given series.
567,189, 63,?,7
FrfafEa v 8§ Ry 7g foredt & @ g ofes 311a SIfargl

567,189, 63,7,7
Options:

1) 21

2) 30

3) 29

4) 31

Correct Answer: 21
Candidate Answer: 21

QID : 34 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AED, EIH, INL, ?, QAT
Ueh SeRH fear maT g, e € Ueh U g &1 iy Y fenedt & & ag 9@ e 9, ST orgehd ot g a1

AED, EIH, INL, ?, QAT
Options:

Correct Answer: MTP
Candidate Answer: MTP

QID : 35 - Lokesh is taller than Gagan but not shorter than Abhishek. Abhishek and Suresh are of same height. Lokesh is shorter than Lalit. Amongst the boys, who is
the tallest?

ARSI, T G T § TR HANE © Biel T81 8| SHfHVh qT TR Yeh THAM TS oh & | FAhal, Aferd G BleT &1 el § W, T 5l i 87
Options:

1) Gagan

T

2) Lalit

dfera

3) Lokesh
eher
4) Suresh

A

Correct Answer: Lalit

Candidate Answer: Lalit

QID : 36 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Gymnastic

g 7Tq faeredt & § g8 <reg YA Sit g 1y 216 & S1eRT A THT ek STgl ST S ekl g

Gymnastic

Options:

1) Man

2) Stick

3) Gym

4) Aim

Correct Answer: Stick
Candidate Answer: Stick

” ou " ou

QID : 37 - In a certain code language, “pen” means “paper”, “paper” means “yellow”, “yellow” means “blanket”, “blanket” means “shirt” and “shirt” means “pencil”.
Where do we write?

U fAfe s o &, “ahe®” ot 31 “aRmTSt”, “ehRTeT” o1 o1 “dfter”, “diem” ot sief “eRraer”, “arrarer” oht o1 “aefier” T “eRtier” o ordf “affie” &1 g9 et foraa 87



Options:
1) pen
helH

2) blanket
hFeT

3) yellow

dier

4) shirt

Euic

Correct Answer: yellow

Candidate Answer: yellow

QID : 38 - In a certain code language, - represents '+, '+ represents ‘X, 'x' represents '+' and '+ represents -'. Find out the answer to the following question.
6x6+10-8+2=7?
foreh Pfga e o A ', '+ ol vefid T 8, '+, 'X' ot Uefid eear €, X, '+ ot Uefid e & ofR '+, ' o) uefid oear g1 fRmfafed usr o S Id &9

6x6+10-8+2="?
Options:

1) 15

2) 38

3)2

47

Correct Answer: 7
Candidate Answer: 7

QID : 39 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
15+2+20x10-6=13
fFrafafea gefieor Tod &1 39 THieRur &t T8t A & g fohe 2) gt oY o1 & Sreer-aiget! ST Tfeu?

15+2+20x10-6=13
Options:

1) x and -

x 8RR -

2)+and-

+ 3R -

3) +and x

+ 3R x

4)-and +
-8R+

Correct Answer: = and x
= 3R x

Candidate Answer: = and x
= 3R x
QID : 40 - If 8%5 = 30,9%2 = 70 and 1%4 = -30, then find the value of 2%5 =?

Tfe 8%5 = 30, 9%2 = 70 3R 1%4 = -30, dt 2%5 = ? &l A F1d BRI

Options:
1)-30

2)10
3)-20

4) 40
Correct Answer: -30
Candidate Answer: [ NOT ANSWERED ]

QID : 41 - Which of the following terms follows the trend of the given list?
CDCDCBAB, CDCDABAB, CDCBABAB, CDABABAB, CBABABAB,
frafafea # 4 i a1 ue & ol gt & 9 & rgER 87

CDCDCBAB, CDCDABAB, CDCBABAB, CDABABAB, CBABABAB,



Options:
1) CDCDCDAB

2) ABABABAB
3) CDCDCBAB

4) CDCDABAB
Correct Answer: ABABABAB
Candidate Answer: ABABABAB

QID : 42 - Two ladies P and Q start on their scooters from the same place. P rides 8 km North, then turns West and rides 6 km, then turns to her right and rides 4 km.
Q rides 10 km West, then turns to her right and rides 12 km. Where is Q with respect to P now?

3} Afged P 3R Q U & S7TE & 31U Tpex R Farerdt &1 P 3wk &t 8 foh.oft. des STt 8, fthe uffim Y av 1 STt & ofiR ot 6 fon. 7. aep et &, R o1 arfeeht ik 77 it & ofik
3T 4 .. T e et 1 Q uffe i o= 10 fon. . Fart et 8, R oo arfeht ofik s et & R ot 12 fon.oft. & wamdh ahwelt 81 P & e H 9@ Q gt 82
Options:

1) 16 km West

16 for. Y. ufgm

2) 4 km West

4 fn.oR. ufgm

3) 4 km East

4 Rn . o

4) 16 km East

16 for.+. o

Correct Answer: 4 km West
4 for =t

Candidate Answer: 4 km West
4 s =, ufgm

QID : 43 - In the question two statements are given, followed by two conclusions, | and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No creepers are vines
Statement II: No climbers are creepers

Conclusion I: All vines are climbers
Conclusion II: No climbers are vines

s H &) hyA A M € frgeh oY <t s | afR 11 fAepret 1 &1 SRt AT & o S e I & 9T a8 Imaa: ATd a2 @ {9 udlia gid &1 saent Aot @ & i iy e
freenet & & sH-1/aH-8 FAfYd &0 & sue gRT 98 Ferrel ST TerdT &/9ed &, afe &1 gl

YU |: Y oft o A A et
& II: FE ff rdarie dar S e

e |: @+t g TdaRiE 8 8

forsenef 11: il off adaRIE) o e gl

Options:

1) Only conclusion | follows

Fad ey | T8l §

2) Only conclusion Il follows

hae (e || T8 §

3) Both conclusions | and Il follow

T fsemed | 3R 11 58t 8

4) Neither conclusion | nor conclusion Il follows

1 at freenef | @@t & 1 € fsaf 11

Correct Answer: Neither conclusion | nor conclusion Il follows

a1 at freenef | @t & 1 € fsaf 11

Candidate Answer: Neither conclusion | nor conclusion Il follows

a1 at freenef | @@t & 1 € fsaf |1



QID: 44 -

In the following figure, rectangle represents Actors, circle
represents Art critics, triangle represents Photographers and
square represents Indians. Which set of letters represents
Photographers who are either Actors or Art critics?

Prforla M &, 37 Ffwast & wefiia & g,
ﬁmmﬁaﬁﬁwﬁﬁm% BeT e #
i F ¥ ok o ardet @ wefia & 3
FeRT & T T W 39 FOAR F T K 8,
a’tma‘laﬁaﬂm%mwaﬁﬁ#

Options:
1) HGD

2) HGF
3) CEH

4) BDG
Correct Answer: HGD
Candidate Answer: HGD

QID : 45 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
VTC, ZXG, DBK, HFO, ?
e S1ehH foar T 8, Ores @ o Ue g 81 feg g fenedi A § a8 It faeed 9fg, St srgehd @l g

VTC, ZXG, DBK, HFO, ?
Options:

1) KIR

2) LJS

3) ECL

4) IGP

Correct Answer: LJS
Candidate Answer: LJS

QID : 46 - In the following question, select the missing number from the given series.
64,73,83,94,7,119
fafafed vy 7 Ry 7 el & @ g sfw 31 HifSgl

64,73,83,94,?,119
Options:

1) 108

2) 112

3) 106

4)114

Correct Answer: 106
Candidate Answer: 106

QID : 47 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

2 g Mg wer 7, f7 deemel & IR g Ry e €)1 v T § gEd quT et T ugeh e § et g /o @ awifda 81 i S ge o/ & smemr i gme 1 e
g et & @ O Y 9wl



Options:

1) (64,32,16)
2) (96, 48, 20)
3) (144,72, 36)
4) (216,108, 54)

Correct Answer: (96, 48, 20)
Candidate Answer: (96, 48, 20)

QID: 48 -

If a mirror is placed on the line MN, then
which of the answer figures is the right
image of the given figure?

afe T gdor F MN I@T ) @M AT ar &
I 3 AHIATT H F FHlad-dr IHfa weaT
3Mpid T eI FidfeFs gran?

<&

M N
Options:
1)
&
2)
S
3)

4




Correct Answer:

$

Candidate Answer:

$

QID: 49 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

frfaf@d Seat 3mpfa & & i @1 o= o
AT 9T IMPpld A & ol OF F AT LN

o -
.>.|O|H| %
O




Options:
1)

2)

3)

4)

e
o

°,o0)
o
Candidate Answer:

fori,

@)®




QID: 50 -

A word is represented by only one set of numbers s given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by two classes of alphahets as shown in the given
two matrices. The columns and rows of Matris! are numbered from 0 to 4 and that of Matrix-I| are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by
its column, for example 'E' can be represented by 14, 31 etc and 'R’ can be represented by 78, 89 etc.
Similarly, you have to identify the set for the word 'LAND'.

T Y a0 UF GEU-EAR g g g o fF fowed A @ R o A
for ) fowedt & fow v wemang R ¥ @ @ W afv o f 9w
f for o 3 et A & el & e i oRE & wem 0 # 4 R s
530 7 ot § @ W A w WA R kT F TR I G
ol 31 W £ 3egR & U E @ 14, 31 3R @ g o #e § A R
78, 89 3fE e guian o WA &1 o A @ FwE wA A R oo LAND' & R
W @ G g

Matrix | Matrix 1l
=] =R -l
o 1 2 3 4 5 6 7 8 |1 9
0 H L D M A 5 Y W P u v
1 M K M G E [3 S v u S (8]
2 | K J L C 7 T o] u R T
3 L E D J D & Z X W z R
4 B H i A | a [a) N z W v
Options:

1) 13,58,20,55
2) 11,95,42,79
3) 23,43,96,34

4) 30,78,42,85
Correct Answer: 23,43,96,34
Candidate Answer: 23,43,96,34

QID: 51-

F = { [Casiniiiied
ind the value of 1} 1 .

L4913

219?Eﬁiﬂﬂﬁﬁiﬁlaai

Options:
1)17/13
2)13/17
3)13/7
4)17/7

Correct Answer: 17/13
Candidate Answer: 17/13

QID : 52 - The sum of two numbers is 25 and sum of their square is 313. Calculate the numbers.

&l T3l T AT 25 § 3R 31 avf o1 I 313 &1 TReanait il oM @] |

Options:
1) 15,10

2)18,7
3)11,14

4)12,13
Correct Answer: 12,13
Candidate Answer: 12,13



QID:53-
What is the value of a—b when a°+b* -6a-6b=18=07

a-bil HE 1 %, Sdfh a’+~ b’ -6a—-6b+18=0 &7

Options:
1)0

2)3
3)6

4)9
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

QID:54-
The quadratic equation (1+a’)x®+2abx+(b* —c*)=0 has only one root. What

is the value of ¢*(1+a%}?

faara waliaor (1+2%)%% « 2abx+ (b? -¢%)=0 @ HUA TEH AF o
c(1+a%) A T &7

Options:

1)
o3

2)
bz
3)
C2
4)
ab

Correct Answer:
b&
Candidate Answer: [ NOT ANSWERED ]

QID : 55 - A circle of diameter 26 cm having the two equal chords of length 10 cm is separated by a distance x cm. Calculate the distance x.

26 9.7}, & a9 &1 Yo g, O & Sfiar formehl avars 10 9., 8, Sah afta @ x R 81 gt x Rl o R
Options:

Correct Answer: 24
Candidate Answer: 24

QID : 56 -

Two tangents PA and PB are drawn to a circle of centre O in such a way that
ZAOB=120°. Calculate the value of ZAPB .

&1 FodvEr PA IR PB ®1 H5 O & v ad & T 39 atw & ofar aran §
fh ZAOB=120°T £APB & &1 &Y aroren e

4 g
>



Options:

1) 40°

2) 50°

3)60°

4)80°

Correct Answer: 60°

Candidate Answer: 60°

QID : 57 - The population of a town is 200000. It increases annually at the rate of 10%. What will be the population after 2 years?

ek ER hl S=E=eT 200000 g1 I8 Ufaay 10% 6l &R § Tedt &1 2 Iy usyTd S-eEiedT ar ghfi?

Options:
1) 240000

2) 242000
3) 221000

4) 244000
Correct Answer: 242000
Candidate Answer: 242000

QID : 58 - The incomes of X and Y are in the ratio 5 : 6 and their expenditure are in the ratio 6 : 5. If X saves Rs 7000 and Y saves Rs 15000, then what will be the
income (in Rs) of X?

X qATY &Y 3 52 6 o SIIUTT H & TUT I9eh 47 6 : 5 S 0T A 1 Al X, 7000 3 Fa1a1 § a7 Y, 15000 ¥ =71 &, df X i 31 (% H) a1 ghft?

Options:
1) 28000

2) 20000
3) 25000

4) 24000
Correct Answer: 25000
Candidate Answer: 25000

QID : 59 - X starts a business with Rs 80000. After 6 months Y joins X with Rs 100000. After 2 years, what will be the ratio of profit of X and Y?

X, 80000 ¥ 3 T Toh ATIR [T AT &1 6 TEH THTd Y, 100000 ¥ o T X & T[S ST &1 2 I THTd X AT Y o AT T ST T G2
Options:

3)8:9

4)14:15

Correct Answer: 16: 15
Candidate Answer: 16 : 15

QID : 60 - What is the average of all the one digit and two digit natural numbers?

T2t Ye Sfchl T &1 Sieh! aTelt UThfceh SATaTl T SiTerd &R &7

Options:
1) 25

2) 40
3) 50

4) 99
Correct Answer: 50
Candidate Answer: 50

QID : 61 - If the time increases by 5 years, then simple interest increases by Rs 3000 on a sum of Rs 5000. What is the rate (in percentage) of interest per annum?

e T 5 a9 ¥ g ST 8, 9t 5000 T HY Yeh AfA TR FreRoT &1t 3000 3 F ¢ STaT & | &TST <l aTfies &2 (Ffasra #) = 8?

Options:
1)15

2)12
3)10

4)6
Correct Answer: 12
Candidate Answer: 12



QID : 62 - Cost price of an article is Rs 5800. If the loss percentage is 33%, then what is the selling price (in Rs) of the article?

Qe I%g ol 3T e 5800 % 31 afe g1 ufra 33% 8, at a¥q a1 faeha ew (3 ) s 82

Options:
1) 3886

2) 3424
3) 4420

4) 5168
Correct Answer: 3886
Candidate Answer: 3886

QID : 63 - The marked price of an article is 60% more than its cost price. If the article is sold for Rs 300 after offering a discount of Rs 20, then what will be the profit
percentage?

Qe g ol Sifchd Hed I8 o Jed § 60% 3HfAh 1 afS a%g Y 20 T < Fe 3 & TTd 300 T F =1 71 8, Y AT Hicterd aram givmm?

Options:
1) 40

2) 50
3)25

4) 45
Correct Answer: 50
Candidate Answer: 50

QID : 64 -

What is the valug of 2—— =

V6 + 276,
s

NI TNSD T AT FT 87?

NZY)

Options:
1)8

\J96 + 216
24

2)4
3)5

4)10
Correct Answer: 5
Candidate Answer: 5

QID : 65 - A, B and C together can complete a work in 25 days. If the ratio of efficiency of A, B and Cis 15: 10 : 6 respectively, then in how many days C alone can
complete the same work?

A, BT C fieTens Qo rd et 25 f&T § QRT e Heht 81 IS A, B GT C 2l ShRIGRISTdT T S1gTd $hAsl: 15: 10 : 6 8, df C 31chal 39 i ot foha= AT § GRT o Hehal 872

Options:
1) 727/6

2) 725/6
3) 775/6

4) 745/6
Correct Answer: 775/6
Candidate Answer: 775/6

QID : 66 - A boy crosses a 300 metres wide road in 30 seconds. What is his speed (in km/hr)?

Ueh ASehT Ueh 300 Hiex TSt Tsah vt 30 Johvs § UR R a1 &1 Iqeht 7ifay (foh. ot /ger ) Fm g2

Options:
1)18

2)54
3)36

4)27



Correct Answer: 36
Candidate Answer: 36

QID: 67 -

The pie chart shows the results of an online survey which
asked people about their favourite author. Study the
diagram and answer the following questions.

T TS U UH MHieAcisa fdewr & qRomE gefiar &
fored et i 3ot qHcler d@d & aR & qoT I |
I WG F HeTIT Y 3R FrAfaf@a weat & 3o &)

Number of people / @i i gream

Which author is the favourite of most people surveyed?

R T2 gderor & SrfArenisr AT T THIET ikaeh i €2
Options:

Correct Answer: B
Candidate Answer: B



QID: 68 -

The pie chart shows the results of an online survey which
asked people about their favourite author. Study the
diagram and answer the following questions.

T W AE TE NS wdeer F aReme gefar §
fore#r sl & 3% qHdIeT ofEd & aN # 9o I ATl
H W #1 3eqaa w3 Afaf@a weat & seaw &)

Number of people / #1T #r Fr&T

What is the total number of people who have responded to the survey ?

dfgror & ufafeRar 37 aret AT Y et TedT a1 82

Options:
1) 2250
2) 2100
3) 2400
4) 2000

Correct Answer: 2250
Candidate Answer: 2250

QID: 69 -

The pie chart shows the results of an online survey which
asked people about their favourite author. Study the
diagram and answer the following questions.

T W AE TE Ao wdeer & aReme gefar §
fors ol @1 3% Jwdler o & aR H geT I |
H W 1 3eqaa w3 i@ weat & ser &)

Number of people / @it it grear

The measure of the central angle of the sector representing number of people whose favourite author is D is

S gtidieT eikgah D & A a fl e drufiffda s a e F Fda doreram __ fSIf 2l

degrees.



Options:

1) 60

2) 64

3) 56

4) 52

Correct Answer: 64
Candidate Answer: 64

QID:70-

The pie chart shows the results of an online survey which
asked people about their favourite author. Study the
diagram and answer the following questions.

T U UE UH A FdEr & qRomE gefiar §
fore# sl & 3% qHcIer ofEd & N # 9oT I ATl
TH I F HIIT Y 3N Frafaf@d weal & Ieaw &)

Number of people / #1111 Fr&T

Respondents who say their favourite author is A and those who say their favourite author is B constitute what percent of the total respondents?

O IR T ShgT & 3R Ik uidiaT Ak A & SfR STt ITRETT Shed & foh I7ehT Ui @@k B §, & Gt STRGTATS BT fohaT Heiet TIfde et 82
Options:

1) 30%

2) 20%

3) 44.44%

4) 35.55%

Correct Answer: 35.55%
Candidate Answer: 35.55%

QID : 71 - The lengths of the two diagonals of a rhombus are 6 cm and 8 cm. Find the length of its perimeter (in cm).

Toh SIS o o facmuif <t wars 6§55k 8 §.+1.81 3uht uRema it <erg (F.+#1.7) F1a e
Options:

1) 20

2)10

3) 40

4) 30

Correct Answer: 20

Candidate Answer: 20

QID : 72 - What is the measure of an interior angle of a regular polygon of 10 sides?

10 SgaTrett aTet ges fafia agst & Sridikes ShioT o1 719 R givm?

Options:

1) 150

2) 156

3) 144

4) 160

Correct Answer: 144
Candidate Answer: 144

QID : 73 - Find the curved surface area (in cm?) of a hemisphere of diameter 7 cm.

7 & g a1et Yok 1 Y Ioh Tag I &FAthet (I 9.H11.H) Fd AR



Options:

1) 88

2) 55

3)77

4) 66

Correct Answer: 77
Candidate Answer: 77

QID : 74 - AABC is right angled at B. If mzA = 450 then find the value of (tanC + v3/2).

AABC & B WX GH&RI0T 1 afé m2A = 450 €, &t (tanC + v3/2) ol |19 1d &3 |
Options:

1) 4/v3

2) (2+v3)/2

3) (V2+2)/2v2

4) (2+v3)/3

Correct Answer: (2+v3)/2

Candidate Answer: (2+v3)/2

QID : 75 - In AXYZ measure of angle Y is 90°. If cotX = 5/12, and XY = 2.5cm, then what is the length (in cm) of side XZ?

AXYZ F oY s ara 900 81 af cotX = 5/12 iR XY = 2.5 .12, A oo XZ it g (& .H) w2
Options:

16

2)4

3)5.6

4) 6.5

Correct Answer: 6.5

Candidate Answer: 6.5

QID : 76 - Which of the following CANNOT be called a Debt instrument as referred in financial transactions?

fFafafea 7 9 69 foxfla @937 & =u d Afée kot ares A svet S aedar 82

Options:

1) Certificate of Deposits

STHT JHTOTOS

2) Bonds

CILS]

3) Stocks

L

4) Commercial Papers
CE]

Correct Answer: Stocks
Laca

Candidate Answer: Certificate of Deposits
STHT UHTOTOS

QID : 77 - During which five year plan the growth rate of agricultural production was negative?

foha daaifar gt & R P SeTed Sl R @R ThRTeAS ofi?

Options:
1) Third Plan
GISHEISE

2) Second Plan
TerT

3) First Plan

gl gietT

4) No option is cqr%rect.
I

Correct Answer: Third Plan

et g
Candidate Answer: Third Plan
et g

QID : 78 - After which war did Babur hold the title of Ghazi?

frifena & § R gg 3 TsTe SITeR = TS T IUTfey erRor <At oft?



Options:
1) Battle of Kabul

DI T
2) Battle of Panipat
EICiic)

3) Battle of Khanwa

ECIECIR: T

4) Battle of Ghaghra

HTERT g

Correct Answer: Battle of Khanwa
T gog

Candidate Answer: Battle of Kabul
PIgT I

QID : 79 - Which of the following events is not related to the era of Warren Hastings?

frafafea & & st ge ar= 3 & et & Jeifea 78 82

Options:

1) First Anglo-Maratha War

U JTA-HRIST G5

2) Rohilla War

AT g5

3) Chait Singh Incident

Jafdig fr ger

4) The establishment of the College of Hellbury

B ShIcIST el TATHAT

Correct Answer: The establishment of the College of Hellbury
et & T

Candidate Answer: [ NOT ANSWERED ]

QID : 80 - Where is the world's highest volcanic mountain Cotopaxi located?

sy o1 e S ST udd Sl wet [ 87

Options:

1) Japan
S

2) Philippines
frfordia

3) Ecuador
EGERIN

4) Hawaiian Islands
Correct Answer: Ecuador

Candidate Answer: Ecuador

QID : 81 - Where is the Cardamom Hills located?

Options:
1) Jammu and Kashmir

SR
2) Himachal Pradesh
TR

3) Kerala
IR

4) Maharashtra
HERTE

Correct Answer: Kerala

Candidate Answer: Maharashtra

HERTY

QID : 82 - Pandit Bhimsen Joshi is:
ufee oftmaa Seh & [



Options:
1) Flute player
e areeh
2) Odissi dancers

3) Hindustani vocalist
; TIh

4) Sitar Maestro

AR arees

Correct Answer: Hindustani vocalist
Mgeh

Candidate Answer: Flute player
TG areeh

QID : 83 - What was the theme of 48t annual meeting of the World Economic Forum (WEF) which was held in Davos city?

STa e B SAfSia fagy snfdfes #ar (WEF) & 48-d anftfes daeh o1 fawr (oftm) aram am?
Options:

1) Discover, remember and share

femrar, RAwR Tus wR

2) Creating shared future in a fractured world world

fenufen ¢ <19 wpeR 37 ¢ Shera des

3) Shared values, common destiny

A€ dg, hiF

4) Connecting ships, ports and people

AT ey, Tiéy gue due

Correct Answer: Creating shared future in a fractured world world
QT U € TeR 3 | therd€ des

Candidate Answer: Creating shared future in a fractured world world
foruféa @ o wgaR 3 ¢ herad aws

QID : 84 - Who among the following won the ‘FIFA Men's Player of The Year Award’ on October 23, 2017?

frffed & § fhe 23 SRRsR, 2017 T AT AT WIER STt & SR’ QREhHR Sfiar?

Options:
1) Lionel Messi

2) Andres Iniesta

3) Cristiano Ranaldo
g

4) Luka Modric

Jent

Correct Answer: Cristiano Ranaldo
%

Candidate Answer: [ NOT ANSWERED ]

QID : 85 - In terms of population Pakistan is at which place in the world?

STERET & A § uifehear fasy B fhg e R g?
Options:

1) 8th

3faat

2) 7th

[radi

3) 6th

Bl

4) 5th

IECH

Correct Answer: 6th
B

Candidate Answer: [ NOT ANSWERED ]

QID : 86 - Who formulated ‘the atomic theory’ of a matter?

Teref & ‘oY) Riggiar feve wfdronfera faam am?

Options:
1) Avogadro

2) Dalton
Slecd

3) Newton
e

4) Pascal
UTEehel



Correct Answer: Dalton

Candidate Answer: Dalton
Sleed

QID : 87 - Which of the following type of medicine is used for treating indigestion?

fr=fafaa § 9 forg siufd o1 Iumiv 3o &1 IR @A & fore glar &2

Options:
1) Antibiotic
PIGEIEC]

2) Analgesic

drererd

3) Antacid

= Rre

4) Antiseptic

TfRieft

Correct Answer: Antacid

Candidate Answer: Antacid

QID : 88 - In Lok Sabha, who CANNOT vote in the first instance during voting?

Mg & aiféar & R uget I=oT & i A gl STof JehdT?

Options:

1) Speaker

SfeEl

2) Cabinet Ministers

eI HA

3) Member of Lok Sabha
T & &

4) None of these

EEEEIEE]

Correct Answer: Speaker

SfeeEr

Candidate Answer: Speaker
STeET

QID : 89 - Houses of Indian Parliament are prorogued by whom?

YR TOE & g1 ol Taa fhad gRT fohar Sirar &2
Options:

1) Speaker of Lok Sabha

ARG & Srezet

2) Chairman of Rajya Sabha

ST & el

3) Prime Minister of India

IR & TeTH

4) President of India

Rd & AUfT

Correct Answer: President of India
Rd & AFUfT

Candidate Answer: President of India
YR &

QID : 90 - Trypsin is present in which of the following?

fefem Faforfea & 9 fored Sufeda gfar &2
Options:

1) Bile juice

IEGAS]

2) Gastric juice

STHIRI ™

3) Saliva

R

4) Pancreatic juice

IFRITRARAR T

Correct Answer: Pancreatic juice
SR T

Candidate Answer: Gastric juice
STHIRR ¥H



QID : 91 - Leeuwenhoek discovered the free living cells for the first time in

TgaTEIh A TaY UG Wes Stifad ehlfrenrad &t @rer H &l o

Options:

1) pond water
GISICEASK
2) sea water
IR & S

3) soil

4) human body
g RR

Correct Answer: pond water
ATATS & STet

Candidate Answer: pond water
ATATS S STet

QID : 92 - In October 2017, how many companies were shortlisted for adoption of 14 monuments under ‘Adopt a Heritage Scheme?

3ReR 2017 H, '31ie Y gRES AT o Siaifd 14 TRen! & IfHTg o forg fohaeit chafeat et g mar ar?
Options:

16

2)10

3)7

414

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED |

QID:93-
What is the name of the eighth planet discovered by NASA, circling Kepler- 90?

AT ZRT TSt Y 31158 T8, ST hweiR-90 T ufRehAT o & T 19 & 872
Options:

1) Kepler-90g

FHwR-90g

2) Kepler-90h

HER-90h

3) Kepler-90i

FwR-90i

4) Kepler-908

HER-908

Correct Answer: Kepler—90i

HER-90i

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - Under GST regime, in ‘Composition Scheme’, taxpayers have to fill returns

SHuaeY amaA & Siqrfa ‘T TS §, ShRerarsi @t Rt a8

Options:
1) Monthly
i

2) Half-yearly

Siefarfiin

3) Quarterly

ECIED

4) Bi-Monthly

g mfdew

Correct Answer: Quarterly

Candidate Answer: [ NOT ANSWERED ]|

QID : 95 - On 3 January 2018, Lok Sabha passed Ancient Monuments and Archaeological Sites and Remains (Amendment) Bill, 2017. The Bill empowers which
agency/authority to consider an impact assessment of proposed works in prohibited area?

3 SFERY 2018 &, AR = UT TReh qT YRIded e q7 3ay (Feies) fadaes, 2017 ot uilRa forar) fadaes Ffteg & & nearfaa st & siice iR AR & & forg e
AT/ ITfeRRT oht RAfRH TeT T &7

Options:

1) Indian Monument Agency

TR TR TR

2) National Monument Authority

e FRE

3) National Monumental and Ancient Site Conservation Authority

AR TR AT UTT Tt TReTor fdreor

4) None of these
EEEEIEE]



Correct Answer: National Monument Authority
TRH

Candidate Answer: National Monumental and Ancient Site Conservation Authority
TETT TR TUT UTT T TRETOT ITfrehor

QID : 96 - The time period of a sound wave is 0.01 seconds. Find its frequency (in Hz).

g T T 1A et 0.01 Fehs g1 FHHT AgRT (Hz ) T AR

Options:

1) 100

2)10

3) 50

4) 20

Correct Answer: 100
Candidate Answer: 100

QID : 97 - The Sl unit of G, the universal gravitation constant is

G, TTdeh e R &1 S| /e ____ g 2l
Options:

1) N m? kg2

2) Nm?2 kg2

3) Nm2 kg2

4) N m?2kg?

Correct Answer: N m? kg'2

Candidate Answer: N m™ kg?

QID : 98 - The power of an earthquake is expressed in terms of a magnitude on a scale called

3Jchy I 21fch & TRAToT &8t ___ BHT IR gk foRat ST 81

Options:
1) Schmitt
e

2) Hutton
&gl

3) Werner
FR

4) Richter
Rz
Correct Answer: Richter

Candidate Answer: Richter

QID : 99 - Which of the statements given below are correct?

A) Rafael Nadal won the Tennis 2017 Australian Open Men's Singles.
B) In 2017, Virat Kohli captained the IPL team Royal Challengers Bangalore.

C) Serena Williams won the Table Tennis 2017 ITTF World Tour Grand Finals Women's Singles.

T dd s arsrm g d?

A) IHTTS TeTeT 7 29 2017 sireformm situm A= ey Sfiam

B) 2017 # faRre wtgeft 3 andtiue & Fae Ao SefiR it et Sl
C) T faferr 3 39 ¢ 2017 SESENT aes R fie tharew i iy Sftam
Options:

1) Only A

haet A

2) Only B

Fad B

3)BothAandC

A 3R C gt

4) None of these

B EEEIEE]

Correct Answer: Only B

Shad B

Candidate Answer: Only B
Fad B

QID : 100 - Washing machines and microwave oven are operatedby __ embedded inside these gadgets.

gife} g=fi Jur A1Sshiada 3ife Ueh ___ @ Tetd & Y S7eh 31veR o1 BidT &1

scale.



Options:

1) Satellites

SEpE

2) Electronic Device
SICEE

3) e-books

EReiC

4) Internet

Correct Answer: Electronic Device
19

Candidate Answer: Electronic Device
19



SSC CHSL 12 March 2018 Afternoon Shift

Quant

Instructions
For the following questions answer them individually

Question 1

Ankit runs 324 metres every day for his fitness. According to his daily routine in how many days he covers
8.1 km.

A 21
B 23
C 25

D 27

Answer: C

Explanation:
8.1 km =8100 m

Time taken to cover 324 m = 1 day

=> Time taken to cover 8100 m = 3—%4 x 8100
_ 450 _

=38 = 25 days

=> Ans - (C)

Question 2

simplify: (13)% — (14)% + (17)? — 250 = v?
A 196
B 169

C 121

D 144

Answer: D

Explanation:
Expression : (13)% — (14)% + (17)? — 250 = v/?

=>4/ = 169 — 196 + 289 — 250 = 12



=z = (12)? = 144
=>Ans - (D)
Question 3

Determine the value of Z;fgz a=2++3andb=2—+/3

A 027
B 042
C 0.58

D 0.93

Answer: A

Explanation:
Given:a =2+ /3

>

ISH L)

1
T 2443

| 2—4/3
_2+\/§X(2—\/§)

4

11
\%
ISl

Thus, b = 1
=>a—|—%:(2+\/§)+(2_\/§): _____________ (i)

Tofind: &40 — (@*>+ %)+ (a®+ 5)

a3 +b? a?
=[(a+2)* —2(a)()] + [(a+3)* = 3(a)(2)(a+ )]
Using equation (i), we get :
=[(4)* — 2]+ [(4)° - 3(4)]

16-2
- ((64—12)) =g~ 027

=>Ans - (A)

)

Question 4

What is the x-intercept of line joining (4, 2) and (6, 3) ?

A O
B 1
cC 2

D 3

Answer: A



Explanation:

Equation of line joining (4, 2) and (6, 3) is : (y — 2) = %% X (x —4)
=>y—2: %(;{;—4)

To find x-intercept, we substitute y = 0

=>0—-2=1(z—4)

=>zr—4=—-4

=>x=4—-4=0

=>Ans - (A)

Question 5

Which of the following triangle is formed when the triangle has all the three medians of equal length?

A Scalene
B Isosceles
C Equilateral

D Right angled

Answer: C

Explanation:
An equilateral triangle is formed when the triangle has all the three medians of equal length.

=>Ans - (C)
Question 6

If the ratio of the angle bisector segments of the two equiangular triangles are in the ratio of 3:2 then what
is the ratio of the corresponding sides of the two triangles?

A 23
B 32
C 64

D 46

Answer: B

Explanation:



A 2
1
B D CQ S R

Given: AD : PS =3:2

Tofind: AB : PQ =7

Solution : The given triangles are equiangular,ie. Z/A=/P,/B=/Q,/ZC=/R
Now, in A ABD and A\ PQS,

/B=/Q

/BAD=/QPS [ ZA=/P=>L/A=L1/P=>/BAD=/QPS]

So, by A-A criterion of similarity, we have :

/\ ABD ~ /A PQS
_ AB _ AD _ 3

PO~ PS 2
=> Ans - (B)
Question 7

Which number is 30% less than 80% of 800?

A 524
B 192
C 448

D 368

Answer: C

Explanation:

o _ 80 o
80% of 800 = <L x 800 = 640

Number which is 30% less that 640 = 70% of 640
_ 70

= 700 ¥ 640

=7 x 64 = 448

=>Ans - (C)



Question 8

A box contain equal number of 1 rupee, 2 rupee and 5 rupee coins. If the total amount is Rs 184, then how
many coins of each type are there?

A 18
B 26
C 25

D 23

Answer: D

Explanation:
Let x type of each coin is in the box.

Total amount = (z X 1) + (z x 2) + (x x 5) = 184
=z + 2x + br = 184

= = 12—4 =23

.". There are 23 coins of each type.

=>Ans - (D)

Question 9

A 50 litre mixture of water and alcohol contains 10% alcohol. How much more alcohol must be added to
make the strength of alcohol 40% in the new mixture?

A 25
B 30
Cc 20

D 23

Answer: A

Explanation:
Quantity of alcohol in 50 litres mixture = 2% x 50 = 5 litres

100
Let x litres of alcohol is added,
=gz +5= 1 x (z + 50)
=>z+5=2x (z+50)
=>bx + 25 = 2z + 100

=> 5z — 22 = 100 — 25



=>3x =175

==>r = 73—5 p— 25

.". 25 litres alcohol must be added to make the strength of alcohol 40% in the new mixture.
=>Ans - (A)

Question 10

In a committee there are 25 members. If two members whose ages are 64 years and 40 years are replaced
by the two new members, then average age of 25 members is decreased by 2 years. What is the average
age (in years) of the new members?

A 27
B 32
C 38

D 44

Answer: A

Explanation:
Let average age of 25 members = x years

=> Total age of 25 members = 25x
Let sum of ages of 2 new members = 2z, thus average age = z =7

According to ques,

250—64—-40+22 __ T — 9

25
=> 25 — 104 + 2z = 252 — 50

=>2z = 104 — 50 = 54

=>z:5_24:27

=>

.". Average age of the new members = 27

=>Ans - (A)

Question 11

Simple interest on a sum of Rs 3300 for 5 years is Rs 1980. What is the annual rate (in percentage) of
interest?



c 12

D 9

Answer: C

Explanation:
Principal amount = Rs. 3300 and interest = Rs. 1980

Let rate of interest = 7% and time period = 5 years

=> Simple interest = —lef)%OXT
__ 3300x7x5 __

=> T(;ﬂ — 1980
=>165r = 1980

=>7r = % fr— 12%
=>Ans - (C)

Question 12

On selling 30 caps, a shopkeeper earns profit equal to the selling price of 3 caps. What is the profit
percentage?

A 125
B 11.11
c 10

D 14.28

Answer: B

Explanation:
Let cost price of a cap = Rs. x and selling price =Rs. y

Profit on selling 30 caps = Rs. 30(y — )
According to ques,

=>30(y —z) = 3y

=> 30y — 30z = 3y

=> 30z = 30y — 3y = 27y

Letz =9andy = 10
Thus, profit % = ﬁ%l x 100
109 % 100

=100 = 11.11%

—




=> Ans - (B)
Question 13

Selling price of an article is Rs 2397 and discount offered is 15%. What is the marked price (in Rs)?

A 2756.5
B 2856.6
C 2740

D 2820

Answer: D

Explanation:
Selling price = Rs. 2397

Discount % = 15%

=> Marked price = 222 x 100

(100—15)
=141 x 20 = Rs. 2820
=> Ans - (D)
Question 14

If 3v2 + V18 + v50 = 15.55, then what is the value of v32 + v72?

A 1322
B 10.83
C 1413

D 16.54

Answer: C

Explanation:

Given: 3v/2 4+ /18 + /50 = 15.55
=>3v/2 + 3v/2 + 5¢/2 = 15.55
=>1/2 = 135 = 1,413 ()

To find : \/372 +/72

=42 + 62 = 10v2

=10 x 1.413 = 14.13



=>Ans - (C)
Question 15

Both X and Y together can complete a work in 12 days and Y alone can complete the same work in 30 days.
In how many days will X alone complete the work?

Answer: B

Explanation:
Let the total work to be done = L.C.M. (12,30) = 60 units

Y alone can complete the same work in 30 days, => Y's efficiency = % = 2 units/day
Similarly, (X+Y)'s 1 day's work = % = 5 units/day

=> X's efficiency =5 — 2 = 3 units/day

.". Time taken by X to complete the work alone = % = 20 days

=> Ans - (B)

Question 16

A 600 metres long train is running at the speed of 81 km/hr. If it crosses a platform in 40 seconds, then
what is the length of the platform (in metres)?

A 220
B 300
C 360

D 410

Answer: B

Explanation:
Let length of platform = [ m and length of train = 600 m

Speed of train = 81 km/hr = (81 x ) = 22.5m/s
Using, distance = speed X time

=>[4 600 = 22.5 x 40

=>[ =900 — 600 = 300 m



=> Ans - (B)

Instructions

The pie chart shows the investments made by 7 partners in a business. Study the diagram and answer the
following questions.

Investment (in Rs. Lakhs)
Question 17

Which partner has made the second highest investment?

cC D

D E

Answer: D

Explanation:
E has made the second highest investment = Rs. 60 lakhs

=>Ans - (D)
Question 18

What is the total investment (in Rs lakhs) in the business?

A 400
B 350

C 300



p 250

Answer: C

Explanation:
Total investment (in Rs lakhs) in the business

=20+50+10+40+60+20+ 100
=300

=> Ans - (C)

Question 19

The measure of the central angle of the sector representing investment of partner E is degrees.

A 60
B 36
C 50

D 72

Answer: D

Explanation:
Investment of partner E (in Rs lakhs) = 60

Total investment (in Rs lakhs) in the business
=20+50+10+40+ 60+ 20+ 100 =300
=> Required central angle = 3% x 360°

300

— 360° __ o
= 30— 79

=>Ans - (D)

Question 20

If the business makes Rs. 45 lakh profit which is distributed between the partners how much does C get (in
Rs lakhs)?



Answer: C

Explanation:
Investment of partner C (in Rs lakhs) = 10

Total investment (in Rs lakhs) in the business

=20+50+10+40+60+20+ 100 =300

=> % investment of C = 30 x 100 = 2%

Profit = Rs. 45 lakhs

.".C's share (in Rs lakhs) = 3)(1;)00 X 45

_45 _
=30 = 1.5
=>Ans - (C)

Instructions
For the following questions answer them individually

Question 21

The lengths of the two diagonals of a rhombus are 7 cm and 24 cm. Find the length of its perimeter (in cm).

A 25
B 100
Cc 75

D 50

Answer: D

Explanation:

A B

D c
Given : ABCD is a rhombus and AC =24 cm and BD =7 cm
To find : Perimeter of ABCD
Solution : Diagonals of a rhombus bisect each other at right angle.
=>BE=% = 3.5cmandAE=%4 =12cm
Thus, in right /A AEB,
=> (AB)? = (AE)? + (BE)?



>(AB)? = (12)% + (3.5)?

=> (AB)? = 144 + 12.25 = 156.25

=> AB = /156.25 = 12.5cm

.". Perimeter of rhombus ABCD =4 x 12.5 = 50 cm
=>Ans - (D)

Question 22

If the perimeter of a semicircle is 36 cm, then find its area (in cm?)

A 154
B 35
c 77

D 70

Answer: C

Explanation:
Let radius of semi circle =r cm

=> Perimeter of semi circle = r + 2r = 36
=> r(% +2) =36

> r(2414) = 36

=>7r =236 X & = 7cm

36

.*. Area of semi-circle = 1772

2
% X % x (7)?

=11 X 7= 77 cm?
=>Ans - (C)

Question 23

The volume of a hemisphere is 19404 cm3. Find its diameter (in cm).

A 42
B 21
C 84

D 63



Answer: A

Explanation:
Let radius of hemisphere = 7 cm

Volume of hemisphere = % x 713
=> 2 x 2 x (r)3 = 19404

)® =19404 x 2
)3 =441 x 21

=>7 = /21 x 21 x 21 = 21 cm

.".Diameter =2 x 21 =42 cm
=>Ans - (A)

Question 24

What is the value of (tan60°- 1/3) ?

A 3—+2

B 2\/5— \/§
2
=1
C 3 73
D 3v3-1
3
Answer: D
Explanation:

Expression : tan(60°) — %
=43 — %
(3v3-1)

3

=>Ans - (D)
Question 25

In AUVW measure of angle V is 90 degrees. If sinU = 24/25, and UV = 0.7cm, then what is the length (in cm)
of side VW?



Answer: C

Explanation:

W

v 2.7cm L

Given:UV=0.7cmandsin U = g—g ............ (i)

Tofind: VW=7
Solution : cosU = /1 — sin2U

- — _ 016 _ /49 _ 7T ii
=>cosU = \/1 625 — \/ 625 — 25 (i)

Dividing equation (i) by (ii), => tanU = %
In right A UVW,

=>tan(U) = %

=>VW =2 x0.7=24cm

=> Ans - (C)

Reasoning

Instructions
For the following questions answer them individually

Question 26

In the following question, select the related word pair from the given alternatives.
Elephant : Mammal ::?:?

A Crocodile : Mammal
B Snake: Rodents
C Rabbit : Mammal

D Whale: Reptile



Answer: C

Explanation:
Expression = Elephant : Mammal :: ?: ?

The first comes under the category of second, i.e. an elephant is a mammal, similarly a rabbit is also a
mammal.

Crocodiles and snakes are reptiles and whale is a mammal.

=>Ans - (C)

Question 27

In the following question, select the related number from the given alternatives.
56:30::34:?

D 9
Answer: B
Explanation:
Expression=56:30::34:7
The second number in the pair is the product of digits of first number.
Eg:-5 x 6 =30
Similarly, 3 x 4 = 12
=> Ans - (B)
Question 28

In the following question, select the related letter/letters from the given alternatives.
TOK:UQN::ROL:?

A SQO
B SLP
Cc PQM

D RHO

Answer: A



Explanation:
Expression = TOK:UQN::ROL:?

The pattern followed is :

T o k.

(+1) | (+21 | (+3)

Ll ] [
Similarly, for ROL : SQO

(+1) | (+2) | (+3)

3 a o
=>Ans - (A)

Question 29

In the following question, select the odd word from the given alternatives.

A Cone
B Cylinder
C Rectangle

D Prism

Answer: C

Explanation:
Cone, cylinder and prism are 3-dimensional figures, but rectangle is a 2-D figure, hence it is the odd one out.

=>Ans - (C)

Question 30

In the following question, four number pairs are given. The number on left side of (-) is related to the
number of the right side of (-) with some Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

A 15-19
B 17-21

C 19-23



p 11-13

Answer: D

Explanation:
The difference between each of the pair of numbers is 4.

But in the last option =>13 — 11 = 2
Thus, (11 - 13) is the odd one out.
=>Ans - (D)

Question 31

In the following question, select the odd letter/letters from the given alternatives.

A HFDB
B KIGD
C VTRP

D NLJH

Answer: B

Explanation:
(A) : H (-2 letters) = F (-2 letters) = D (-2 letters) = B

(B) : K (-2 letters) = | (-2 letters) = G (-3 letters) =D
(C): V(-2 letters) = T (-2 letters) = R (-2 letters) = P
(D) : N (-2 letters) = L (-2 letters) = J (-2 letters) = H
=> Ans - (B)
Question 32

From the given alternatives, according to dictionary, which word will come at THIRD position?
1. Serious

2. Single

3. Salted

4. Sand

5. Sickle

A Single
B Sand
C Sickle

D Serious

Answer: D



Explanation:
As per the order of dictionary :

= Salted -> Sand -> Serious -> Sickle -> Single
Thus, third word = Serious

=> Ans - (D)

Question 33

In the following question, select the missing number from the given series.
23, 29, 24, 30, 25, ?

A 30
B 31
C 26

D 28

Answer: B

Explanation:
'6' and '5' are alternatively added and subtracted respectively.

23+6=29
29-5=24
24 +6 =30
30-5=25
25+6 =31
=> Ans - (B)
Question 34

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.
EF, Gl, IL, KO, ?



Answer: A

Explanation:
Series : EF, Gl, IL, KO, ?

The pattern followed in each letter of the terms is :

1st letter : E (+2 letters) = G (+2 letters) = | (+2 letters) = K (+2 letters) = M
2nd letter : F (+3 letters) = | (+3 letters) = L (+3 letters) = O (+3 letters) =R
Thus, missing term = MR

=> Ans - (A)

Question 35

Raja, Komal, Rupal, Sneha and Tarun are sitting in a line facing south. Raja and Komal are sitting together.
Rupal is sitting at west end and Sneha is sitting at east end. Tarun is neighbour of Komal and Rupal. Who is
sitting in the middle?

A Raja
B Tarun
C Komal

D Rupal

Answer: C

Explanation:
Rupal is sitting at west end and Sneha is sitting at east end and everyone is facing South.

l Rupal Sneha i

Tarun is neighbour of Komal and Rupal, => Tarun is sitting to the immediate right of Rupal.

Also, Raja and Komal are sitting together, hence the arrangement is :

l Rupal | Tarun | Komal | Raja | Sneha i

.. Komal is sitting in the middle.

=> Ans - (C)

Question 36

From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Visitors

A \viss



B Visit
C Sitor

D Site

Answer: D

Explanation:
The word VISITORS does not contain any 'E', thus the term Site cannot be formed.

=> Ans - (D)
Question 37

In a certain code language, “POWER” is written as “RMYCT". How is “TABLE" written in that code language?

A VYXED
B VYDJG
C VWEGT

D TGJVW

Answer: B

Explanation:
“POWER” is written as “RMYCT”

The pattern followed is :

F o W E R
(+2) | (-2) | (+2) | (-2) | (+3)
R M i C T
Similarly, for TABLE :

T A B L E
(+2) | (-2) | (+2) | (-2) | (+2)
i f O J ]

=> Ans - (B)

Question 38

In a certain code language, 'x' represents '+, '+' represents 'x, '-' represents '+’ and '+ represents '-'. Find out
the answer to the following question.
17x18+30-20+14 =7



c 37

D 13

Answer: A

Explanation:
Expression:17x18+30-20+14=7

=17+18 x 3020 — 14
=17+ 5 —14
=3+27=30

=>Ans - (A)

Question 39

The following equation is incorrect. Which two signs should be interchanged to correct the equation?
14+16+-40x8-48 = 46

A +andx
B xand-
C +and+

D -and+

Answer: A

Explanation:
Expression: 14 +16 +40x 8-48 = 46

(A): +and x

=14+16 x 40 + 8 — 48 = 46

LH.S. =14 + (¢ x 40) — 48

=14 4+ 80 — 48 = 46 =R.H.S.

=>Ans - (A)

Question 40

If 40@8 = 50, 30@3 = 100 and 10@2 = 50, then find the value of 20@5 = ?



c 40

D 90

Answer: C

Explanation:
Given : 40@8 = 50, 30@3 = 100 and 10@2 = 50

If we replace '@' with /', and multiply the quotient by 10, we get the desired result.
Eg:- () x 10 = 50

and (£) x 10 = 100 and () x 10 = 50

similarly, (£) x 10 = 40

=> Ans - (C)

Question 41

Which of the following terms follows the trend of the given list?
PRQPQPQPQ, PQRPQPQPQ, PQPRQPQPQ, PQPQRPQPQ, PQPQPRQPQ,

A PQPQPQRPQ
B RPQPQPQPQ
C PRQPQPQPQ

D PQRPQPQPQ

Answer: A

Explanation:
Expression : PRQPQPQPQ, PQRPQPQPQ, PQPRQPQPQ, PQPQRPQPQ, PQPQPRQPQ,

The above series is a combination of 4 'PQ', also there is an 'R' in each term starting from second position
from left side in increasing order.

Thus, in the missing term, 'R will be at 7th position = PQPQPQRPQ
=>Ans - (A)

Question 42

An eagle starts from its nest and flies 1 km East, the turns North and flies 2 km, then turns West and flies 7
km, then turns to its left and flies 2 km. Where is it now with respect to its nest?

A 8 km West

B 6 km West



c 6km East

D 8km East

Answer: B

Question 43

In the question two statements are given, followed by two conclusions, | and Il.You have to consider the
statements to be true even if it seems to be at variance fromcommonly known facts. You have to decide
which of the given conclusions, if any, follows from the given statements.

Statement I: No umbrellas are raincoats

Statement Il: Some jackets are umbrellas

Conclusion I: All raincoats are jackets

Conclusion IlI: All jackets are raincoats

A Only conclusion | follows
B Only conclusion Il follows
C Both conclusions | and Il follow

D Neither conclusion | nor conclusion Il follows

Answer: D

Question 44

In the following figure, rectangle represents Lawyers, circle represents Bakers, triangle represents Singers
and square represents Golfers. Which set of letters represents Golfers who are not Bakers?

A IBF
B HAG
C CJK

D KFG



Answer: C

Explanation:

Lawyers

Golfers

Golfers who are not Bakers =C + J + K

=> Ans - (C)

Question 45

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.
ZCS, XAQ, VYO, TWM, ?

A SUJ
B RUK
C SVK

D RVJ

Answer: B

Explanation:
Series : ZCS, XAQ, VYO, TWM, ?

The pattern followed in each letter of the terms is :

1st letter : Z (-2 letters) = X (-2 letters) = V (-2 letters) = T (-2 letters) = R
2nd letter : C (-2 letters) = A (-2 letters) = Y (-2 letters) = W (-2 letters) = U
3rd letter : S (-2 letters) = Q (-2 letters) = O (-2 letters) = M (-2 letters) = K
Thus, missing term = RUK

=> Ans - (B)



Question 46

In the following question, select the missing number from the given series.
147,149, 152, 156, 161, ?

A 168
B 167
C 166

D 165

Answer: B

Explanation:
Consecutive integers are added.

147 +2 =149
149 +3 =152
152+4 =156
156 +5=161
161 +6 =167
=> Ans - (B)

Question 47

In the following question, four groups of three numbers are given. In each group the second and third
number are related to the first number by a Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

A (24,58)
B (39 27)
C (4,16,32)

D (5 25 125)

Answer: C

Explanation:
The numbers are of the form : (z, 22, z3)

But in the third option, we have = 43 = 64 = 32
Thus, (4, 16, 32) is the odd one out.
=> Ans - (C)



Question 48

If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

M

Answer: A



Question 49

Which of the following cube in the answer figure cannot be made based on the unfolded cube in the
question figure?

W

Answer: C



Question 50

A word is represented by only one set of numbers as given in any one of the attematives. The sets of
numbers given in the alternatives are represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix+' are numbered from 0 to 4 and that of Matrix-ll are numbered
from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, for
example 'H' can be represented by 12, 34 etc and .1 can be represented by 85, 96 etc. Similarly, you have to
identify the set for the word 'KNIT'.

Matrix - 1 Matrix - 1l
1] 1 2 3 4 5 il 7 8 9
0 iy H E L K 5 M x M Y x
1 ] ] H L F i} x £ Q x R
2 D ] ] C D 7 AT M £ W Qa
3 1] i K C H 8 Z W T a 8]
4 | E B B C 9 5 £ 8] W Z
A 32,76,40,87
B 34,67,21,85
C 21,69,40,68
D 22,59,14,68
Answer: A
Explanation:

(A) : 32,76,40,87 = KNIT
(B) : 34,67,21,85 = HQJZ
(C):21,69,40,68 = JRIX

(D) : 22,59,14,68 = JXFX
=> Ans - (A)

English

Instructions

In the following question, some part of the sentence may have errors. Find out which part of the sentence has
an error and select the appropriate option. If a sentence is free from error, select ‘No Error'.

Question 51

She chose (a)/ to stayed (b)/ there for a while. (c)/ No error (d)

A She chose



g tostayed
C there for a while

D No error

Answer: B

Question 52

Along with Plato, Aristotle is considered the father of Western (a)/ Philosophy,which from his teachings
inherited almost its entire (b)/ lexicon, including problems and methods
of inquiry. (c)/ No error (d)

A Along with Plato, Aristotle is considered the father of Western

Philosophy, which from his teachings inherited almost its entire
C lexicon, including problems and methods of inquiry

D No error

Answer: D

Instructions

In the following question, the sentence given with blank to be filled in with anappropriate word. Select the
correct alternative out of the four and indicate it by selecting the appropriate option.

Question 53

What is it? it wait?

A may

B can't

C would

D is
Answer: B

Question 54

citizen of India must know about our country’s history, struggle, culture and other important things.

A Each



B Any
C Every

D No

Answer: C

Instructions

In the following question, out of the given four alternatives, select the one which best expresses the meaning
of the given word.

Question 55

Winsome

A Repulsive
B Charming
C Ugly

D Repellent

Answer: B

Question 56

Amorous

A Detest
B Correct
C Erotic

D Appreciate

Answer: C

Instructions

In the following question, out of the given four alternatives, select the one which is opposite in meaning of the
given word.

Question 57

Unprecedented



A Exceptional
B Bizarre
C Fantastic

D Known

Answer: D

Question 58

Antithesis

A Opposite
B Reverse
C Harmony

D Conflict

Answer: C

Instructions
For the following questions answer them individually

Question 59

Rearrange the parts of the sentence in correct order.
The first and decisive step
P : in the expansion of

Q : conquest of the Atlantic ocean
R : Europe overseas was the

A RPQ
B QPR
C PRQ

D PQR

Answer: C



Question 60

A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which
best expresses the same sentence inPassive/Active Voice.
I will conquer it.

A It would conquer me.
B It will be conquered by me.
C Conquered it will be by me.

D It will be conquer by me.

Answer: B

Question 61

A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one
which best expresses the same sentence in Indirect/Direct Speech.
The teacher said, “Wow! You have done well.”

A The teacher applauded him, saying that he had done well.
B The teacher appreciated me.
C The teacher said wow, he had done well.

D The teacher applauded him by saying wow.

Answer: A

Question 62

In the following question, a word has been written in four different ways out of which only one is correctly
spelt. Select the correctly spelt word.

A Ocurrense
B Ocurrence
C Occurrence

D Occurence

Answer: C

Instructions



In the following passage, some of the words have been left out. Read the passage carefully and select the
correct answer for the given blank out of the four alternatives.

The English languageis ___ complex in character that it can scarcely be learned by rule, and can
be mastered by the study of such idioms and phrases as are provided in this book; but just as care
must be taken to place every accentorstress____ the proper syllableinthe____ of every word
it contains, so must the stress or emphasis be placed on the properwordin____ sentence spoken.
Question 63
The English language is complex in character
A as
B to
C at
D so
Answer: D
Question 64
andcan__________ be mastered by the study
A good
B best
C nice
D fine
Answer: B
Question 65
accentorstress _________ the proper
A on
B in
C into



Answer: A

Question 66

syllableinthe___________ of every word

A pronounce
B pronounces
C pronounced

D pronunciation

Answer: D

Question 67

properwordin_____ sentence spoken.

A all
B while
C every

D as

Answer: C

Instructions

In the following question, out of the four alternatives, select the alternative which best expresses the meaning
of the idiom/phrase.

Question 68

Be in the air

A Harmful gaseous effluents from a factory.
B To fly like a bird or a plane.
C When an emotion or idea is on everyone's mind.

D To be likely to happen.

Answer: C



Question 69

Children should be seen and not heard

A The voice of children is often drowned in company of adults.
B Some children will seek attention by crying.
C Children should not speak in the presence of adults.

D Those children are likable who dress neatly.

Answer: C

Instructions

In the following question, out of the four alternatives, select the alternative which is the best substitute of the
words/sentence.

Question 70

Instruct or improve someone morally or intellectually.

A Hoodwink
B Allude
C Beguile

D Edify

Answer: D

Question 71

Characterized by bitterness or resentment

A Piety
B Amity
C Rancorous

D Fidelity

Answer: C

Instructions



In the following question, out of the four alternatives, select the alternative which will improve the bracketed
part of the sentence. In case no improvement is needed, select "no improvement".

Question 72

That game (were interrupted) by the rains, it resumed an hour after, when the rains stopped.

A areinterrupted
B was interrupt
C was interrupted

D noimprovement

Answer: C

Question 73

The course (has been) a success with more than a thousand students joining it.

A have been
B isbeen
C was been

D noimprovement

Answer: D

Instructions
For the following questions answer them individually

Question 74

The question below consists of a set of labelled sentences. Out of the four options given, select the most
logical order of the sentences to form a coherent paragraph.

If a country wants to

A-to listen to the World Bank, the

B-custodian of big business

C-prove it is business-friendly, it has

A BCA
B CAB

C BAC



p ACB

Answer: B

Question 75

In the following question, four words are given out of which one word is correctly spelt. Select the correctly
spelt word.

A immpenetrable
B impenetrable
C impanetrable

D immpanetrable

Answer: B

General Awareness

Instructions
For the following questions answer them individually

Question 76

The Currency Convertibility concept in its original form is originated
in

A Taylors agreement

B Wells agreement

C Bretton Woods agreement

D Symonds agreement

Answer: C

Question 77

India has changed over to the decimal system of coinage in

A April, 1958



B April, 1959
C April, 1995

D April, 1957

Answer: D

Question 78

Which of the following Vedic texts is mentioned the eastern and western seas for the first time?

A Tandya Brahmana
B Satpath Brahmana
C Gopath Brahmana

D Kaustiki Brahmana

Answer: B

Question 79

Mir Hassan Dehlavi was in the court of which of the following?

A Alauddin Khilji
B Mubarak Khilji
C Muhammad Bin Tughlaq

D Firoj Tughlaq

Answer: A

Question 80

Which of the following planets has the highest revolutionary motion?

A Mercury
B Venus
C Mars

D Jupiter



Answer: D

Question 81

Which country forms the longest international border with India in the far east?

A China
B Myanmar
C Thailand

D Vietnam

Answer: B

Question 82

Saint Kabir was the disciple of whom?

A Ramanujacharya
B Chaitanya Mahaprabhu
C Swami Haridas

D Ramananda

Answer: D

Question 83

What was the name of the operation launched by India to help Bangladesh in solving with Rohingya crisis?

A Operation Saksham
B Operation Manavata
C Operation Khushhali

D Operation Insaniyat

Answer: D

Question 84

Who among the following has been awarded the Dronacharya Award for the year 2017?



A Bhupender Singh
B Devendra Nath
C Syed Shahid Hakim

D Roshan Lal

Answer: D

Question 85

Which of the following country’s national flag has a Dragon on it?

A Nepal
B SrilLanka
C Myanmar

D Bhutan

Answer: D

Question 86

Which of the following is an example of thermoplastics?
A Bakelite
B Melamine

C PVC

D No option is correct.

Answer: C
Question 87

Which among the following has highest electron affinity?

A Chlorine
B Fluorine

C Helium



D Xenon

Answer: A

Question 88

If any Fundamental Right of a citizen is breached then under Article 226 of Indian Constitution he can move
to

A Prime Minsiter of India
B Chief Justice of India
C President of India

D High Court of State

Answer: D

Question 89

What is the minimum age required to become a member of municipality?

A 15years
B 20 years
C 21 years

D 25years

Answer: C

Question 90

In Paramecium, the food is moved to a specific spot by the movement of which cover the entire
surface of the cell.

A cilia
B villi
C pseudopodia

D vacuole

Answer: A



Question 91

Which among the following is respiratory pigment in human beings?

A Melanin
B Haemoglobin
C Rhodopsin

D Bilirubin

Answer: B

Question 92

In July 2017, the Central Government has set the investment limit per fiscal year for ‘Hindu Undivided
Family’ to kg under ‘Sovereign Gold Bonds Scheme'.

cC 4

D 15

Answer: C

Question 93

China has successfully launched two Beidou-3 satellites on board of which carrier rocket?

A Kuaizhou
B Chang-4
C Simorgh

D Long March-3B

Answer: D

Question 94

In May 2017, the Base year of All-Indian WPI (Wholesale Price Index) has beenrevised from 2004-05 to




A 2010-11
B 2015-16
C 2011-12

D 2016-17

Answer: C

Question 95

From May 2017, the Real Estate Act has come into effect. It aims to protect the interests of

A Bureaucrats
B Home Buyers
C Lenders

D No option is correct.

Answer: B

Question 96

Calculate the frequency (in Hz) of a sound wave of wavelength 4m travelling with a speed of 200 m/s.

A 50
B 800
Cc 100

D 400

Answer: A

Question 97

The numerical value of a physical quantity is its

A vector
B magnitude

C direction



D Property

Answer: B

Question 98

Humidity is a measure of the

A pressure in the air
B viscosity of the air
C airresistance

D moisturein air

Answer: D

Question 99

Which of the statements given below are correct?

A) Aryan Tari won the 2017 World Junior Chess Championship.

B) Dustin Johnson won the Golf 2017 WGC-Dell Technologies Match Play.

C) Rafael Nadal won the Tennis 2017 Wimbledon Championships Men's Singles.

A Only A
B AandB
C A BandC

D None of these

Answer: B

Question 100

Books in electronic formats are called

A i-books
B e-books
C elibrary

D e-learning

Answer: B
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QID : 201 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Dinesh has been (1)/ absence from (2)/ school since last month. (3)/ No error (4)
Options:

Correct Answer: 2
Candidate Answer: 1

QID : 202 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Seeing the increasing number of female feticide (1)/ the Prime Minister has come with an initiative (2)/ that is guaranteed to give protection to the girl child. (3)/ No
error (4)

Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 203 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

My grandmother died five years
Options:

1) Ago

2) Since

3) Before

4) From

Correct Answer: Ago

Candidate Answer: Ago

QID : 204 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Egoism is
Options:
1) surfict
2) conceit
3) forfeit
4) resceit
Correct Answer: conceit

Candidate Answer: [ NOT ANSWERED ]|

or negative pride-the mentality of showing and acting superior to others.

QID : 205 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Niggard

Options:

1) Kind

2) Unselfish

3) Miser

4) Generous

Correct Answer: Miser

Candidate Answer: Miser



QID : 206 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Echelon
Options:
1) Era
2) Year
3) Echo
4) Rank

Correct Answer: Rank
Candidate Answer: Era

QID : 207 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Preposterous

Options:

1) Ridiculous

2) Excessive

3) Incredible

4) Reasonable

Correct Answer: Reasonable

Candidate Answer: Ridiculous

QID : 208 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Disarming

Options:

1) Detestable

2) Charming

3) Silk

4) Convincing

Correct Answer: Detestable
Candidate Answer: Detestable

QID : 209 - Rearrange the parts of the sentence in correct order.
Stem cells

P : are being researched
Q : forming blood vessels
R : especially for
Options:

1) RQP

2) QRP

3) PQR

4) PRQ

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 210 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

He gathers the apples.

Options:

1) The apples gather by him.

2) The apples are gathered by him.
3) The apples were gathered by him.
4) The apples got gathered by him.

Correct Answer: The apples are gathered by him.
Candidate Answer: The apples are gathered by him.

QID : 211 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Meera said, “I prefer singing to dancing.”

Options:

1) Meera said that she preferred singing to dancing.
2) Meera say that she preferred singing to dancing.
3) Meera said she prefer singing to dancing.

4) Meera said that | prefer singing to dancing.

Correct Answer: Meera said that she preferred singing to dancing.
Candidate Answer: Meera said that she preferred singing to dancing.

QID : 212 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.



Options:

1) Heirarchy

2) Hierachy

3) Hierarchy

4) Hyrarchy

Correct Answer: Hierarchy
Candidate Answer: Heirarchy

QID : 213 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

So, in asking you to consider the processes of reasoning we are assuming that you never have reasoned- the contrary we are fully aware that you in
connection every other person, have reasoned all your mature life. That is not the question. While everyone reasons, the fact is true that the
majority of persons reason incorrectly. Many personsreason_________lines far from correct and scientific, and suffer therefor and thereby.

reasoning we are assuming that you
Options:

1) no

2) not

3) none

4) nor

Correct Answer: not

Candidate Answer: not

QID : 214 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

So, in asking you to consider the processes of reasoning we are assuming that you never have reasoned- the contrary we are fully aware that you in
connection every other person, have reasoned all your mature life. That is not the question. While everyone reasons, the fact is true that the
majority of persons reason incorrectly. Many persons reason lines far from correct and scientific, and suffer therefor and thereby.

have reasoned-- the contrary we
Options:

1)in

2) on

3) into

4) onto

Correct Answer: on

Candidate Answer: on

QID : 215 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

So, in asking you to consider the processes of reasoning we are assuming that you never have reasoned- the contrary we are fully aware that you in
connection every other person, have reasoned all your mature life. That is not the question. While everyone reasons, the fact is true that the
majority of persons reason incorrectly. Many persons reason lines far from correct and scientific, and suffer therefor and thereby.

that you in connection every other person,
Options:

1) with

2) of

3) for

4) from

Correct Answer: with

Candidate Answer: with

QID : 216 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

So, in asking you to consider the processes of reasoning we are assuming that you never have reasoned- the contrary we are fully aware that you in
connection every other person, have reasoned all your mature life. That is not the question. While everyone reasons, the fact is true that the
majority of persons reason incorrectly. Many persons reason lines far from correct and scientific, and suffer therefor and thereby.

reasons, the factis ______ true that the

Options:

1) equal

2) equally

3) equality

4) equalness
Correct Answer: equally
Candidate Answer: equally



QID : 217 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

So, in asking you to consider the processes of reasoning we are assuming that you never have reasoned- the contrary we are fully aware that you in
connection every other person, have reasoned all your mature life. That is not the question. While everyone reasons, the fact is true that the
majority of persons reason incorrectly. Many persons reason lines far from correct and scientific, and suffer therefor and thereby.

Many persons reason lines far from correct
Options:

1) along

2) long

3) besides

4) at

Correct Answer: along

Candidate Answer: besides

QID : 218 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Ease somebody's mind

Options:

1) Alleviate someone's anxiety.

2) Listen to somebody's grievances.

3) Have the capacity to understand the other person's thoughts.
4) Keep thinking about some person.

Correct Answer: Alleviate someone's anxiety.
Candidate Answer: Have the capacity to understand the other person's thoughts.

QID : 219 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

An axe to grind

Options:

1) One cannot cut wood with a blunt axe.
2) To have important jobs to do.

3) Have an ulterior motive.

4) A weapon is useful only when it is sharp.

Correct Answer: Have an ulterior motive.
Candidate Answer: Have an ulterior motive.

QID : 220 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Criticize in an abusive or angrily insulting manner
Options:

1) Obeisance

2) Veneration

3) Approbation

4) Revile

Correct Answer: Revile
Candidate Answer: Revile

QID : 221 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A shake or tremble in a person's voice
Options:

1) Permeate

2) Rapacious

3) Quaver

4) Grove

Correct Answer: Quaver
Candidate Answer: Quaver

QID : 222 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

| (have been advocate) moderation in daily physical exercise for nearly half a century in all my writings and books.
Options:

1) have being advocating

2) has been advocating

3) have been advocating

4) no improvement

Correct Answer: have been advocating
Candidate Answer: have been advocating

QID : 223 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

New townships (has coming) up with claims of providing several amenities to the people.



Options:

1) is coming

2) has come

3) are coming

4) no improvement

Correct Answer: are coming
Candidate Answer: has come

QID : 224 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

The fact that one has

A-to be fiercely independent
B-get accustomed to

C-in this country was hard to
Options:

1) ACB

2) ABC

3) CBA

4) CAB

Correct Answer: ACB
Candidate Answer: ACB

QID : 225 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) stareotype

2) stereotype

3) iliterrate

4) stareotyp

Correct Answer: stereotype
Candidate Answer: stereotype

QID : 226 - In the following question, select the related word pair from the given alternatives.
Clothes : Tailor::?:?
frafafea ue & Ry 7y foeredt & § wefda oree gm &t gl

g el ?:?

Options:

1) Shoes : Cobbler
i

2) Food : Eat

i : @1

3) Furniture : Producer

4) Mason : Wall
ol dar

Correct Answer: Shoes : Cobbler
@ ;e
Candidate Answer: Shoes : Cobbler

S - T

QID : 227 - In the following question, select the related number from the given alternatives.

Options:

1) 93:99

2)44:52

3)54:64

4) 53:58

Correct Answer: 93 : 99

Candidate Answer: [ NOT ANSWERED ]

QID : 228 - In the following question, select the related letter/letters from the given alternatives.
RAM :NWI::LIP : ?
FeafafEa v 8§ Ry 7 et & @ efa srer/smeri & gl

RAM :NWI ::LIP : ?



Options:

1) HEL

2) LQV

3) HAP

4) PET

Correct Answer: HEL
Candidate Answer: HEL

QID : 229 - In the following question, select the odd word pair from the given alternatives.

fafafea vy 8 R g faredt & @ v <reg gm & gl
Options:

1) Cow — Grass

T - 91"

2) Monkey — Banana

FaR — hell

3) Rabbit - Carrot

G — MoR

4) Dog - Bark

g — offenr

Correct Answer: Dog - Bark
T -

Candidate Answer: Dog — Bark
g - offeRr

QID : 230 - In the following question, four number pairs are given. The number on left side of (=) is related to the number of the right side of (=) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

A9 g Q0 v &, IR T g Ry g &)1 (-) & Irff ok & Tee () & arff ok &) 7 e @ adh/faw @ wwifda )1 ff 35t ga adh/Fem 3 enaR o wmE €1 Ry g et § @
o= @t gl

Options:

1)11-121

2)13-169

3)19 - 361

4)17 - 279

Correct Answer: 17 — 279

Candidate Answer: [ NOT ANSWERED ]

QID : 231 - In the following question, select the odd letter/letters from the given alternatives.

FfafEa v 8 Ry g et 7 @ v srer/s1ert & gl

Options:

1) FDB

2) LJI

3) SQO

4) ZXV

Correct Answer: LJI
Candidate Answer: LJI

QID : 232 - From the given alternatives, according to dictionary, which word will come at LAST position?

1. Choir
2. Choice
3. Chunk
4. Cheer
5. Church

g Mg farcredt & 9, 21eaehier & SITHR, FIF T 2eg AT T W Sam?

1. Choir
2. Choice
3. Chunk
4. Cheer
5. Church
Options:
1) Choir
2) Church
3) Cheer
4) Chunk

Correct Answer: Church
Candidate Answer: Church



QID : 233 - In the following question, select the missing number from the given series.
12,17, 34,2, 78, 83, 166
fafafea vy § Ry 7y et & @ g of 31 Sifsgl

12,17,34,7,78, 83,166
Options:

Correct Answer: 39
Candidate Answer: 45

QID : 234 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
W, T,QN,?
Tep 1R foam T &, o @ vk v w21 Ry g fRienedt § @ a8 @ fishew gy, S arge o g |

W, T,QN,?
Options:

Correct Answer: K
Candidate Answer: K

QID : 235 - In a row of boys, Amit is ranked 12t from top and Ratan is 15t from bottom. They interchange their position. Ratan now becomes 37t from bottom. How
many total boys are there in the row?

TShI T Goh Ufth B, AT TR A 12-a1 a7 T A1 § 15-a7 &1 I ST W TRER AU F 96 o § | 39 319 12 § 37-a1 g1 a1 g1 Uik d Gf fohawt dTsh 87

Options:

1) 48

2) 49

3) 100

4) 47

Correct Answer: 48

Candidate Answer: [ NOT ANSWERED ]

QID : 236 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.

Expenditure
g g faemedt & § g8 2reg IMAQ Sit g 1y 26 & 18Rl A T ek Al ST S ekl 8|

Expenditure
Options:

1) Pen

2) Expect
3) Turn

4) End

Correct Answer: Expect
Candidate Answer: Expect

QID : 237 - In a certain code language, “LUNGS” is written as “OWQIV”. How is “HEART" written in that code language?

e fAfrE s o &, “LUNGS” @i “OWQIV” forar SiTar &1 39 ehts AT & “HEART” & fhe UenR forar sirgem?

Options:
1) GDTJV
2) KGDTW
3) JGDTW
4) GHEWT

Correct Answer: KGDTW
Candidate Answer: KGDTW

QID : 238 - In a certain code language, '+' represents '+, - represents 'x, '+' represents '+ and 'x' represents -'. Find out the answer to the following question.
9+16-25+10x20="?
foreht fAfa snte T & '+, '+ ot UG fRTd SheaT 8, -, 'X' ol UaiRTd deaT 8, '+, '+ Y Uil ahear g SR X, ' ot vefRia eear g1 FRefeiad st et Sk ard R

9+16-25+10x20="?



Options:

1) 50

2) 29

3)37

4)43

Correct Answer: 29

Candidate Answer: [ NOT ANSWERED ]

QID : 239 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
4-10+5x4+12=16
FeafafEa aefteeor Tad &1 59 GHieeuT st 98l e o forg o &t gl ot oo & SreetT-aiget shet afeg?

4-10+5x4+12=16

Options:
1) +and-

2) +and +
+ .

3)xand-
X 3R -
4)-and +
- R+

Correct Answer: x and -
x 3R -

Candidate Answer: [ NOT ANSWERED ]
QID :240-If 70!10 =-7, 70!5 = -14 and 40!4 = -10, then find the value of 2012 = ?

Tfe 70110 = -7, 7015 = -14 3R 4014 = -10, Tt 2012 I T T B
Options:

Correct Answer: -10
Candidate Answer: -10

QID : 241 - Which of the following terms follows the trend of the given list?
aBABABAB, AbABABAB, ABaBABAB, ABAbABAB, ABABaBAB,

PR & @ ) 1 g & et et & o 3 SrER 22

aBABABAB, AbABABAB, ABaBABAB, ABAbABAB, ABABaBAB,

Options:

1) ABABABaB

2) ABABAbAB

3) aBABABAB

4) AbABABAB
Correct Answer: ABABAbAB
Candidate Answer: ABABAbAB



QID : 242 - A woman starts from her home and walks 2
km North, then she turns East and walks 9 km, then she
turns South and walks 1 km, then she turns West and
walks 2 km, then she turns to her left and walks 1 km to
reach the well. Where is her home with respect to the
well?

Tch Higell U TR & [Hcheld! g 3R 3R bl a2 foh. =Y. i
deh STTdt 8, d« a8 Yd [T H {$ Sl g 3R 31t 9 foh.Hi. deh
Teld! 8, a9 dg &0 Sl dR T STt @ 3R 1 foh. . dok Terdh
g, T a8 ufgH &hl IR 4 STt € 3R 31mt 2 foh.Ht. deh Terdl g,
fhR I8 31U+ ITU TR H&dt € 3R Teh U deh Uga- o felq 3w
1 foh.HY. Ik Tetdl 81 39 FU & HeH H IGHI 0R hgl 872

Options:

1) 11 km West
11 f&s. . ufgm
2) 7 km East
7 Rl qd

3) 7 km West
7 .. ufgm
4) 11 km East
11 foroft. g

Correct Answer: 7 km West
7 for. . ufgm

Candidate Answer: 7 km West
7 o5 . ufgm

QID : 243 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No cigars are cigarettes
Statement II: All tobacco are cigars

Conclusion I: Some cigarettes are tobacco
Conclusion II: No tobacco are cigarettes

A €t A 33 T € S omt &t s | ofR 11 fAepret M &1 smueRt A & 6 1Y e I @ AR 98 9rad: I a2l § 9 vedta gia gl | siruent fAofa @ & f g g
frehyt # @ s-a1/AH-8 Affa 0 @ w2 gR1 98! AT 31 9ehar &/ 8, 3 i3 gt

FYT|: FI5 ff AR RRe T giar g
FUA I oft g RATR g §

fArsnef |: $& RRe darg gidt &
Frsemed 11: 1 oft dorg RRe Adi sk &
Options:

1) Only conclusion | follows

Fhad fery | T8t 8§

2) Only conclusion Il follows

o Ry || 981 8

3) Both conclusions | and Il follow
At e | ofiR 1 T @

4) Neither conclusion | nor conclusion Il follows

1 at freenef | @@t g 1 € fsa |1



Correct Answer: Only conclusion Il follows

thad femy || TEt

Candidate Answer: Only conclusion | follows

hae ey | T8t &

QID : 244 -

In the following figure, rectangle represents Therapists, circle
represents Floral designers, triangle represents Poets and square
represents Football players. Which set of letters represents Therapists
who are either Floral designers or Poets?

fefaf@a i &, sma Rffes # wilid & g,
ged 9 Rt & weGRia & &, B #aat # weiia
W ¢ AR a0 edia [Gontsal 1 e awar §1 3wRT &
Fa W w34 frcrs & weflia & g o g

fSsmee & a1 & §7
paum
E
C

Options:
1) FD

2)EC
3) FGE

4) DC
Correct Answer: EC
Candidate Answer: FGE

QID : 245 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
POT, OMS, NKR, MIQ, ?

e arger feram T 8, v @ uan ue g 21 g g fareredt 7 @ a5 et e g, S g Bt R

POT, OMS, NKR, MIQ, ?

Options:

1) LGP

2) KGO

3) LHP

4) KHO
Correct Answer: LGP
Candidate Answer: LGP

QID : 246 - In the following question, select the missing number from the given series.
64,75, 86,97,7,119
fafafea vy d Ry 7 el & @ g ofe 31 HifSgl

64,75, 86,97,?,119



Options:
1) 118

2) 108
3)98

4) 109
Correct Answer: 108
Candidate Answer: 108

QID : 247 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

2 g Mg v F, f deemedl & IR g A Q€)1 v wg H gt aut ftawr Teen ugedt e § Rt uen deh/fam @ w81 i St ges adh/fam & s w wEE €1 R
Y fenedt & @ f9a &t gl

Options:

1) (3,9,27)

2) (6, 18, 56)

3) (7,21, 63)

4) (8,24,72)

Correct Answer: (6, 18, 56)

Candidate Answer: (6, 18, 56)

QID : 248 -

If a mirror is placed on the line MN, then

which of the answer figures is the right

image of the given figure?

7fE ww gdor S MN @1 9T @r ST ar &
el 3eaw wfaal 7 @ Sl sl e
Fmpfar #r wer gfater geft?

M




Options:

1)

e
2)
3)

b
3)

N

Correct Answer:

b
Candidate Answer:

b




QID : 249 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

AT 3ot 3MhfT # @ Fi @1 7 fow
AT 9T IMpfd A & ol & & AT G0
ST HHAT?

o o
Ol.e
o o

¢
X

Options:
1)

=<

2)

o

3)

4

S

Correct Answer:

<

%




Candidate Answer:

QID : 250 -

A word is represented by only one set of numbers as given in any one of the alternatives. The sets
of numbers given in the alternatives are represented by two classes of alphabets as shown in the
given two matrices. The columns and rows of Matrie| are numbered from 0 to 4 and that of Matrix-I
are numbered from 510 9. A letter from these matrices can be represented first by its row and next by
its column, for example 'E' can be represented by 12, 34 etc and "W’ can be represented by 56, 97 etc.
Similarly, you have to identify the set for the word 'SOAK,

W W Fae 0 FEU-HAR qEnn quar g, o B Rt A @ Rl o A
forar ) Reedt & Row oo wema st & @ ot g e e ) e
fow 0 & ameggl & §1 egE- & wN AR 9 A FE 0 § 4 AR eggl A
5% 9§ o HogE ¥ UF MW H Uge 30 ofF MR 9 A e g g
ol o T ¥ 3eeRw & U E A 12, 34 3R g g on e & aw
W F 56, 97 e eawr g I wET B S e ¥ e wA A BT o
'SOAK' & foiT #fg &' Jgamel ¢

Matrix | Matrix Il
-1 HTEE -
] 1 2 3 4 5 [ 7 8 9
0 C H E [ 4] 5 Z w Y 0 Z
1 A L E K F ] Q P M P T
2 B L E M C 7 Q 4] 4 W Q
3 G ] C K E 8 5 v o] N 0
4 F C G C | 9 R z w F 4 X
Options:
1) 20,75,20,97
2) 44,95,32,66

3) 31,87,33,65

4) 85,58,10,13
Correct Answer: 85,58,10,13
Candidate Answer: 85,58,10,13

QID : 251 - The addition of a rational number and its reciprocal is 61/30. Calculate the number.

o afA Tt SR 3T URTRes &1 Al 61/30 &1 T A1d hifsrd |

Options:
1)

|

i~

| @

DN D Lo o
|~

Correct Answer:

56

6'5
Candidate Answer: [ NOT ANSWERED |



QID : 252 -
Find the unit place digit in the expression given below:
1M+ 20340 + 20!

Options:
1)5

2)0
3)3

4)9
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 253 -

Determine the value of S—E when a+-b=8 and ab=4.
a

a b

AT AT T, TF a<b=58 3T an=4 &I
a

=

Options:
14

2)8
3)12

4)14
Correct Answer: 14
Candidate Answer: [ NOT ANSWERED ]

QID : 254 -
Find the value of x* — y*,if x—y=4 and xy =12.

X -yt B AW AT B AT x-y=-4 HT =12 B
Options:
1) 198
2) 208
3) 218

4) 228
Correct Answer: 208
Candidate Answer: [ NOT ANSWERED ]|

QID : 255 -
A triangle is circumscribed on the circle of centre O in such a way that sides
AB=12 cm, BQ=T cm and CQ=5 cm. Calculate the length (in cm) of side AC.
us et $& O & ded # W ale & diidd § & #9m AB = 12 31, BQ = 7
T 31X CQ =5 WEHTET §1 o[ ACHT Sfars &1 arar (@it #) &

A




Options:
1)8

2)10
3)12

4)14
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - The line parallel to the BC of the triangle ABC divides the other two sides at the point D and E in such a way that AB=3AD. Calculate the ratio of DE and BC.

Bryst ABC # 31 BC & FHMiaR @1 g8 i3 @i fofg D ofk E 1R 39 a<g fawifoid @<l § & AB = 3AD | DE 3R BC & 3uTd chl 10T |
Options:

1) 1:6

2)1:4

3)1:3

4)3:1

Correct Answer: 1:3

Candidate Answer: 3:1

QID : 257 - If A% of A is 196, then what is the value of A?

Tfg A &1 A%, 196 &, dt A T HT9 RIT 82
Options:

1) 170

2) 160

3) 120

4) 140

Correct Answer: 140

Candidate Answer: 140

QID : 258 - If a/b = c/d = e/f = 2/5, then what is (5a + 3¢ + 2¢) : (5b + 3d + 2f)?

g a/b=c/d=e/f=2/58 @ (5a + 3c + 2e) : (5b + 3d + 2f) T &?
Options:

12:5

2)3:5

3)16:25

4) 20:33

Correct Answer: 2:5

Candidate Answer: 2: 5

QID : 259 - C and D started a business by investing Rs 4000 and Rs 5000 respectively. After 3 months, C withdraws Rs 1000 while D invest Rs 1000 more after 6
months of the starting of business. At the end of the year C's share is Rs 3900. What will be the total profit (in Rs) at the end of year?

C a7 D = ghHsT: 4000 & FUT 5000 ¥ farsr ek Ueh SATaR % fohar §1 3 Ag gTd C, 1000 & fehTet ol & Siefch D SR ¥ 814 & 6 Agi gd 1000 T 3R fAasr dear g1 avf &
3fd # C o1 i2%ar 3900 & &1 o & ofd & ot 1% (T H) 1 ghm?

Options:

1) 7800

2) 10500

3) 8400

4) 12200

Correct Answer: 10500
Candidate Answer: 10500

QID : 260 - The average height of 40 sticks is 154 cm. Some sticks of average height 160 cm are taken out. If the new average height is 150 cm, then how many sticks
are remaining?

40 e fr sftaa Farg 154 .. 81 160 J.+. afwa Fard areht o st e «ff STt 81 aft 7€ oftaa Farg 150 .+, &, at fhaht sfeaf s g€ &2

Options:

1)12

2)16

3)24

4) 28

Correct Answer: 24

Candidate Answer: [ NOT ANSWERED ]

QID : 261 - Simple interest on a sum for 12 months at the rate of 25% per annum is Rs 935.What is the value (in Rs) of sum?

eh A TR 25% ufaae 6t & & 12 AT o QrerRoT sarst 935 T &1 A 1 A (3 7) Fm 82



Options:

1) 3740

2) 3200

3) 4410

4) 4720

Correct Answer: 3740

Candidate Answer: [ NOT ANSWERED ]

QID : 262 - The difference between cost price and selling price is Rs 451. If loss percentage is 11%, then what is the selling price (in Rs)?

T e AT fIeha 4ed & AT SiaR 451 3 &1 af g1 ufasra 11% &, ot fosra e (7 ) s/ 82

Options:

1) 3254

2) 3649

3) 3857

4) 4100

Correct Answer: 3649

Candidate Answer: [ NOT ANSWERED ]|

QID : 263 - A shopkeeper marks the price of his table 30% above the cost price. He allows his customers a discount of 12% on the marked price. What is the profit
percentage?

eh GEhTIGR SO 39T & o8 ol 3hd Jod & 30% AT Sifchd T §1 a8 370+ UTEh! ol Sifchd Jed TR 12% i Be &aT § | AT ufaiRrd T 8?2

Options:

1)14.4

2)18

3) 16.66

4)12.5

Correct Answer: 14.4

Candidate Answer: 14.4

QID : 264 -

What is the simplified value of

1 1 _ 1

B =8 F P A=
1 1

N TR i
1 1 1

J25-22 24-JB B2
1 . 1
T TaT e A &

Options:

1)5+2V5

2)5-5v2

3) V25 +v21

4)v25-4

Correct Answer: 5 + 2v5

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - X and Y together can do a piece of work in 30 days. Y and Z together can do the work in 20 days. X starts the work and works for 15 days then Y takes that
work and works for 27 days. Finally Z finishes the remaining work in 9 days. In how many days Y alone can complete the entire work?

X 1Y fcran fenelt s et 30 f&t & qRT e Fand &1 Y T Z et 38 e &t 20 Rl A Qi o v 81 X SR SR et g AT 15 R aa f e e R Y S s ant A A €
T 27 & ol a1 1 Sfad: Z A9 R At 9 Rl A QU Rt 81 Y Sichell IR i Y o Al H O R WehaT 87

Options:

Correct Answer: 60
Candidate Answer: 60

QID : 266 - A 220 metres long train takes 33 seconds to cross a 440 metres long bridge. How much time (in seconds) will the train take to cross a 350 metres long
bridge?

220 ez At Tk IR Uk 440 Hex T g ot UR & | 33 v aAclt &1 Uk 350 Hiex o G ol UR e § JerTie! o wvy (Farve ) aift?



Options:
1) 28.5
2)17.5
3) 235
4)275

Correct Answer: 28.5
Candidate Answer: 17.5

QID : 267 -

The line graph shows the number of deaths due to dengue
in a certain state. Study the diagram and answer the
following questions.

Ig @1 916 U R_ARISE ToF # 597 & &ROT g arelr
Aiat Fr TEar F AT §1 5H ARG FT HETIAT H
3R fer=faf@a ueat & 3c €

Number of deaths fﬂ £ gEar

12000 -

011 2012 i K] 014 25 016 2017

Year /3%

In which year were the number of deaths lesser than that of the previous year?

oot af &t e A foh af # g€ 77eg ot e A ofi?
Options:

1) 2015

2) 2016

3) 2014

4) 2017

Correct Answer: 2014

Candidate Answer: 2014



QID : 268 -

The line graph shows the number of deaths due to dengue
in a certain state. Study the diagram and answer the
following questions.

Ig @1 7% T {ARISe Toq # 59 & HROT el arelt
Hidh i dEar # e §1 39 WG FIeTTA R

3R faf@d gt & 3eav &

wiog . Number of deaths / g $ wEm

10000

BOOO

G000

4000 -

2000
[ : ; - =
011 2012 103 2014 25 016 2017

Year /3%

What was the difference in the number of deaths between the years 2012 and 2014?

T 2012 3R 2014 & &9 g5 Fg 1 T H T SR oAT?

Options:
1) 5500
2) 6000
3) 5000
4) 6500

Correct Answer: 6500
Candidate Answer: 6500

QID : 269 -

The line graph shows the number of deaths due to dengue
in a certain state. Study the diagram and answer the
following questions.

Ig @1 7% T [{ARISe Toq # 59] & HROT el arelt
Hidh i dEar # el Bl 39 WG FIeITA R

R A=faf@a gt & 3o €

\i0o . Number of deaths / Hed $ wEm

10000

8000

G000

4000 -

2000
[] . = : -
2011 2012 2013 014 2015 016 2017

Year/a¥
The number of deaths in 2013 were lesser than thatin 2016 by ____ %.

2016 A AN A 2013 AgEqg MG Uydfd S oA off|



Options:

Correct Answer: 33.33
Candidate Answer: 50

QID : 270 -

The line graph shows the number of deaths due to dengue
in a certain state. Study the diagram and answer the
following questions.

Ig @1 916 U R_ARISE ToF # 597 & &ROT g arelr
Aiat Fr TEar F AT §1 5H ARG FT HETIAT H

IR fAwAfaf@d geal & 3o &1
oo Number of deaths / 7 FI FEq1
10000
10000
BOOD
8000 7300 g
GO0
6000 6000
4000
1500

2000

: _

o1l 1012 013 2014 015 2016 2017

Year /T¥

If on an average Rs 10 lakhs were paid as insurance for each death due to a dengue, then how much insurance was paid (in Rs crore) in the year 2015?

e ST o HRUT g3 TdH Feg & g ST 10 ARE T el fiHT & &9 7 71 foam mam or, at af 2015 # e e (et @ud ) fean mar ar?

Options:
1) 750
2) 1250
3) 1000
4) 1500

Correct Answer: 750
Candidate Answer: [ NOT ANSWERED ]

QID : 271 - The perimeter of a square is 30 cm. Find its area (in cmz).

Ueh qAITeRR hl UfeTa 30 HEIeR 1 SHeRT S5thet (avf e H) F1d &

Options:
1) 56.25
2)112.5
3) 60.25
4) 120.5

Correct Answer: 56.25
Candidate Answer: [ NOT ANSWERED ]

QID : 272 - The area of a circle is 346.5 cm”. Find its radius (in cm).

ek g1 T &thet 346.5 aif Téirter &1 gueht e (Féier #) 7ra |
Options:

Correct Answer: 10.5
Candidate Answer: [ NOT ANSWERED ]|

QID : 273 - Find the volume (in cm3) of a hemisphere of diameter 42 cm.

42 FEHR AT a1t Ueh AT T A (99 SR H) 71 R



Options:
1) 17832
2) 153512
3) 13858
4) 19404

Correct Answer: 19404
Candidate Answer: [ NOT ANSWERED ]

QID : 274 - AABC is right angled at B. If mzA = 600, then find the value of (secC +2).

AABC & B WX @HaRI0T 1 afé m2A = 600, dt (secC + 2) &l A T1d &i

Options:

1) (2+2v3)/V2
2) 4/3

3) (2+2v3)/V3
4) 4/V3

Correct Answer: (2+2v3)/V3
Candidate Answer: (2+2v3)/v3

QID : 275 - In AABC measure of angle B is 900, If cosA = 5/13, and AB = 10cm, then what is the length (in cm) of side BC?

AABC & @tor B &1 |19 900 &1 T2 cosA = 5/13 3R AB = 10 §&#fiex &, dt 3=1 BC & wiag (d&iex &) am g2
Options:

1) 26

2) 24

3) 25

4)5

Correct Answer: 24

Candidate Answer: 24

QID : 276 - What does cyclical unemployment mean?

Tehrg SRISTTIRY T R 37ef 82

Options:
1) Unemployment during recessionary phase of trade cycle
AR 95k # HET o SR SRISHTRY
2) Disguised unemployment
e RIS
3) Seasonal unemployment
ERSUIR]

4) Voluntary unemployment
BRI

Correct Answer: Unemployment during recessionary phase of trade cycle
IR =75k # HET o ERMA SRR

Candidate Answer: Voluntary unemployment

QID : 277 - Who presented the first Union budget of independent India?

T R T U held soie fohamt Ugd o om?

Options:
1) Morarji Desai

2) John Mathai
EICEE

3) TT Krishnamachari
aa.

4) RK Shanmukham Chetty

IR, yUgEH IE

Correct Answer: RK Shanmukham Chetty
IR, YUgEH AT

Candidate Answer: [ NOT ANSWERED ]|

QID : 278 - Which of the following Harappan sites was not located in Gujarat?

1 § @ -1 gewTeRTel el ToRTd | R 78 ar?



Options:
1) Lothal
e

2) Daimabad
EEICIC
3) Surkotda

4) Dholavira

TR

Correct Answer: Daimabad

Candidate Answer: [ NOT ANSWERED ]

QID : 279 - In 1852, who published the newspaper 'Satyaprakash' in Gujarati?

1852 & TN ATHK THTER U TR & fohe=t Uehifd forar?

Options:

1) Gangadhar Rao
TeR G

2) Vishnu Shastri

forsoy et

3) Gopal Hari Deshmukh
TuTer gREmE

4) Karsandas Mulji
IS ot

Correct Answer: Karsandas Mulji
Candidate Answer: [ NOT ANSWERED |

QID : 280 - The red planet is

AT TR TE & I
Options:

1) Venus

Ak

2) Saturn

o

3) Mars

HITT

4) Neptune

g1

Correct Answer: Mars
T

Candidate Answer: Mars
T

QID : 281 - Which country has the smallest terrestrial border with India?

IR & 1Y g 237 i Wiellg dor ged sid &7

Options:
1) Pakistan
uTfREaT

2) Nepal
uret

3) Myanmar

HMHR

4) Bhutan

]

Correct Answer: Bhutan

]

Candidate Answer: [ NOT ANSWERED ]

QID : 282 - Where is the Samadhi of Guru Gobind Singh located?

T Mide &g &t aafd wel [T 82
Options:

1) Anandpur sahib

TR Tife

2) Amritsar
AR

3) Nanded
i

4) Ludhiana



Correct Answer: Nanded
Candidate Answer: [ NOT ANSWERED ]

QID : 283 - In August 2017, which bank allowed India to construct Ratle Hydroelectric project which was opposed by Pakistan?

SATET 2017 & foh &k 3 9RA &l 3ol SIS gIgeliareh Uioare o FHATT &hi Srgafa & & figent urfener 3 oty femar am?

Options:

1) bank of England

2) World Bank

IEEEED

3) International Bank for Reconstruction and development (IBRD)
f gAfafor g faer o (smdaftemel)

4) Asian Development Bank

Ui Saeude S

Correct Answer: World Bank

fagda

Candidate Answer: [ NOT ANSWERED ]|

QID : 284 - Which of the following IAF man has been posthumously awarded Ashoka Chakra, the country’s highest peace time gallantry medal?

fafofea § 9 frg oms. v .uw. ST @t 2rifaerer & uexr 331 & gata fRar e ieiteh gsh 9 ARONURIG GeTfad fomar mam §?
Options:
1) Rajinder Kumar

FAR

2) Jyoti Prakash Nirala
Safer wremTT fA—rer

3) Harshvardhan Negi
guagA i

4) Anant Thakur

EECKIE T

Correct Answer: Jyoti Prakash Nirala
SO et

Candidate Answer: [ NOT ANSWERED ]

QID : 285 - Official Currency of Nepal is called

TeT < SATFARTRE HaT &t gl ST g

Options:
1) Nepalese Taka
Jureft zTent

2) Loti
iG]
3) Birr
R

4) Nepalese Rupee
aTeft T

Correct Answer: Nepalese Rupee
aTeft T

Candidate Answer: [ NOT ANSWERED |

QID : 286 - Which of the following causes acid rain?

l. S0,
1. NOy
IIl. co,

frfafea & 4 fraes wror spefta auf gt 82

. SO,
Il. NO,
IIl. CO,
Options:
1) Onlyland |l
| qarll
2) Only Il and Il
et || il
3) Only land Ill
| qar il
4) All'l, 1l and 1l
I, 11 e 111 ==
Correct Answer: Only | and Il

hadt | gt I



Candidate Answer: Only | and IlI
Faet | gt il

QID : 287 - What is the ratio of masses of hydrogen and oxygen in the water?

ST H TSI d SHTRIST oh ST hl SOt T 87

Options:
1)1:4

2)1:8
3)1:16

4)1:64
Correct Answer: 1:8
Candidate Answer: [ NOT ANSWERED ]|

QID : 288 - The President of India appoints how many Chief Election Commissioner(s)?

R T AFUTA fohd=t HRed AT SATgH/ SThY oAl gk et 87
Options:

1) One

Tk

2) Two

a

3) Three
Gict

4) Four
IR

Correct Answer: One
Teh
Candidate Answer: [ NOT ANSWERED ]

QID : 289 - Who appears on behalf of the Government of India in all cases in the Supreme Court in which Government of India is concerned?

IaH AT H MRd TRAR T Grafdd Goft Amer § YR TR Y 3R § i I giar &2

Options:

1) Comptroller and Auditor General of India
VR & (A= T HeTeiaT udiersh

2) Advocate General of State

I & HgTa<h

3) Attorney General of India
IRd & AEITET

4) Chief Election Commissioner of India
WRA & q& 14 3MG<h

Correct Answer: Attorney General of India
IRd &

Candidate Answer: [ NOT ANSWERED |

muscle.

QID : 290 - The exit of food from the stomach is regulated by a

I & ST ol g T aft grT Faf3a forar sTar @1
Options:

1) cardiac

gea daeft

2) sphincter

STERITET

3) skeletal
ShepTelta
4) No option is correct.

g fehed Tgl e &1

Correct Answer: sphincter
Candidate Answer: [ NOT ANSWERED ]

QID : 291 - What are the organs similar in basic structure/shape, modified to perform different functions called?

SR LT/ 3R F TaH, fA7-f0= st ol e & forg wuiaia si e srgard &2



Options:

1) Analogous organs

FHEY T

2) Homologous organs

AT ST

3) Heterogeneous organs
3T

4) Homogenous organs

FHeHT ST

Correct Answer: Homologous organs
HHSTI 3T

Candidate Answer: [ NOT ANSWERED ]

QID : 292 - Who launched Mata Amritanandamayi Math Project “Jeevamritham” for cleaning drinking water?

foram o= & it Y IoRrE & forg wTaT seyaerTY we dhl uRatSHT “Siasmad” & drehrguT fohar ur?

Options:
1) Ram Nath Kovind
Y RifdE

2) Narendra Modi
TRe 7

3) Nitin Gadkari
[BIGERICET

4) Uma Bharti
I AR

Correct Answer: Ram Nath Kovind
IHATY Hifde

Candidate Answer: [ NOT ANSWERED ]

QID : 293 - What is the name of India’s fastest and first multi — petaflops super computer unveiled at Pune-based India Institute of Tropical Meteorology?

ot 7 f¥T YR Iwrefeaeia A o 9o # SFaRd MRA & Ta9 dST 9T Ugd Jg-UeTo o URehFEex ST T A1 872

Options:

1) Param

wH

2) Pratyush

agy

3) Prashant

URMd

4) Paras

Ry

Correct Answer: Pratyush
agy

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - In August 2017, RBI announced to transfer approximately how much amount for the Financial Year 2016-17 as a dividend to the Government?

3T 2017 ¥, 3MR&3Ms 3 2016-17 & fAa<ita af & forg TRepR &t aryizr & & § areq fohaei Afy geaiafka et Y giworm 62

Options:

1) Rs 30,659 crore
30,659 WIS 3

2) Rs 50,650 crore
50,650 IS 3

3) Rs 60,659 crore
60,659 I T

4) Rs 70,659 crore
70,659 S T

Correct Answer: Rs 30,659 crore
30,659 RIS T

Candidate Answer: [ NOT ANSWERED ]

QID : 295 - ‘FRDI' Bill, 2017 aims to protect the stability of the financial system. Once enacted, FRDI Bill 2017 will be replacing .

THIIRSIITS fAegeR, 2017 o1 I AT voTedt hY fRRAT & 81T AT &1 Uah IR AT fohg oM R, ThemRerens e 2017 & STTE & A

Options:

1) Deposit Insurance and Credit Guarantee Corporation Act, 1961
ST ffHT o chfde MRE fm sifdfae, 1961

2) Deposit Guarantee Corporation Act, 1980

ST TR e srfafem, 1980

3) Credit Guarantee Corporation Act, 1990

thiee TRE , 1990

4) No option is correct.

3 fehed Tl Tol 8

Correct Answer: Deposit Insurance and Credit Guarantee Corporation Act, 1961

ST oftAT o Shfde TR fAmT sifafaaw, 1961



Candidate Answer: [ NOT ANSWERED ]

QID : 296 - A Sonar of a ship sends sounds waves of speed 1600 m/s. These waves are reflected back by the ocean floor in 4 seconds. Find the depth (in m) of the
ocean floor.

foreht STeTST T TR 1600 /3. & 31 @ eafx I Aora1 81 & a9 GHg ad § 4 Yohs a8 dle e T & | T It i Tewrs (. F) 71a el
Options:

1) 6400

2) 3200

3) 1600

4) 4800

Correct Answer: 3200

Candidate Answer: [ NOT ANSWERED ]

QID : 297 - If an object travels in a straight line and its velocity increases or decreases by equal amounts in equal intervals of time, then the acceleration of the object
is said to be

I Gep aeg Efieft 3T § Tl § SR sHen 3 I SaiaRie § GHM ¥ § gedl O 96T & f 9% & &<l i ___ el ST 8l

Options:

1) linear

TR

2) uniform

TeReH

3) translational

rder

4) non-uniform

A

Correct Answer: uniform
THIHH

Candidate Answer: uniform
THIHH

QID : 298 - Cold air is .

&St arg [

Options:

1) lighter than warm air hence cold air settles down
T a1g 9 Eoh! Bielt ¢ STcT: ST arg A 9% It &

2) heavier than warm air hence cold air rises up

T ag @ 9 gt & ora: S a1 IR I5A &

3) lighter than warm air hence cold air rises up

T g1 @ geehl BidT & or: 3 Ay IR I &

4) heavier than warm air hence cold air settles down

7 BT @ WY Bhel & orl; S A AR S o s oTeh @

Correct Answer: heavier than warm air hence cold air settles down

T gar & W gt & ora: 3 arg A R ok o et &
Candidate Answer: [ NOT ANSWERED ]

QID : 299 - Which of the statements given below are correct?

A) Alexander Norén won the Golf 2017 BMW PGA Championship.
B) Canada hosted the Table Tennis 2017 ITTF Women's World Cup.
C) In 2018 IPL auctions, Rajasthan Royals retained Steve Smith.

T s arTerm g §?

A) Tetrster AR 3 Mtk 2017 dturesey disiiy Sffm=fg sfid

B) TeT A ¢aet 239 2017 SMEEAE HY ae U Y At il

C) a¥ 2018 & snstiet Fremt & oy Aaew = Wia [y ot R fram
Options:

1) Only C

%haet C

2)BandC

B3R C

3)AandB
A3fRB

4)A,BandC
A B3RC

Correct Answer: A,Band C

A B3fRC
Candidate Answer: [ NOT ANSWERED ]

QID : 300 - In Microsoft Word, _____ can be used to decide on the spacing between lines of a paragraph.

TTShIGTTE IS B, ____ ol IUTNT BRI 6l tfehal & st siaRret ot fAofg aar 81



Options:

1) Alignment
T@UT (3FeATgHE)

2) Effects

g91a (55heR)

3) Indentation

TR

4) Line spacing

g Wi

Correct Answer: Line spacing

g Wi

Candidate Answer: [ NOT ANSWERED ]



